
RFQ Quotes Received 11 Invited Suppliers 47

Close Date Active Quotes 11 Intent to Participate 9

RFQ Currency Shortlisted Quotes 11 Responded 11

Line Summary AWARD 46157 Yes No

Unit Quantity

Quote 

Quantity

Award 

Quantity Rank

01 BREATHER:TRANSMISSION Piece 60 60 60 1

01 BREATHER:TRANSMISSION Piece 60 60 2

01 BREATHER:TRANSMISSION Piece 60 60 3

01 BREATHER:TRANSMISSION Piece 60 60 4

01 BREATHER:TRANSMISSION Piece 60

01 BREATHER:TRANSMISSION Piece 60

01 BREATHER:TRANSMISSION Piece 60

01 BREATHER:TRANSMISSION Piece 60

01 BREATHER:TRANSMISSION Piece 60

01 BREATHER:TRANSMISSION Piece 60

01 BREATHER:TRANSMISSION Piece 60

02 BREATHER:TRANSMISSION Piece 30 30 30 1

02 BREATHER:TRANSMISSION Piece 30 30 2

02 BREATHER:TRANSMISSION Piece 30 30 3

02 BREATHER:TRANSMISSION Piece 30 30 4

02 BREATHER:TRANSMISSION Piece 30

02 BREATHER:TRANSMISSION Piece 30

02 BREATHER:TRANSMISSION Piece 30

02 BREATHER:TRANSMISSION Piece 30

02 BREATHER:TRANSMISSION Piece 30

02 BREATHER:TRANSMISSION Piece 30

02 BREATHER:TRANSMISSION Piece 30

03 FILTER:TRANS OIL ELEMENT Kit 12 12 12 1

03 FILTER:TRANS OIL ELEMENT Kit 12 12 2

03 FILTER:TRANS OIL ELEMENT Kit 12 12 3

03 FILTER:TRANS OIL ELEMENT Kit 12 12 4

03 FILTER:TRANS OIL ELEMENT Kit 12 12 5

03 FILTER:TRANS OIL ELEMENT Kit 12

03 FILTER:TRANS OIL ELEMENT Kit 12

03 FILTER:TRANS OIL ELEMENT Kit 12

03 FILTER:TRANS OIL ELEMENT Kit 12

03 FILTER:TRANS OIL ELEMENT Kit 12

03 FILTER:TRANS OIL ELEMENT Kit 12

04 FILTER:TRANS OIL ELEMENT Kit 36 36 36 1

04 FILTER:TRANS OIL ELEMENT Kit 36 36 2

04 FILTER:TRANS OIL ELEMENT Kit 36 36 3

04 FILTER:TRANS OIL ELEMENT Kit 36 36 4

04 FILTER:TRANS OIL ELEMENT Kit 36 36 5

04 FILTER:TRANS OIL ELEMENT Kit 36

04 FILTER:TRANS OIL ELEMENT Kit 36

04 FILTER:TRANS OIL ELEMENT Kit 36

04 FILTER:TRANS OIL ELEMENT Kit 36

04 FILTER:TRANS OIL ELEMENT Kit 36

04 FILTER:TRANS OIL ELEMENT Kit 36

05 FILTER:OIL-ENGINE Piece 36 36 36 1

05 FILTER:OIL-ENGINE Piece 36 36 2

05 FILTER:OIL-ENGINE Piece 36 36 3

05 FILTER:OIL-ENGINE Piece 36 36 4

05 FILTER:OIL-ENGINE Piece 36 36 5

05 FILTER:OIL-ENGINE Piece 36 36 6

05 FILTER:OIL-ENGINE Piece 36 36 7

05 FILTER:OIL-ENGINE Piece 36

05 FILTER:OIL-ENGINE Piece 36

05 FILTER:OIL-ENGINE Piece 36

05 FILTER:OIL-ENGINE Piece 36

06 FILTER:ENG AIR FILTER Piece 20 20 20 1

06 FILTER:ENG AIR FILTER Piece 20 20 2

06 FILTER:ENG AIR FILTER Piece 20 20 3

06 FILTER:ENG AIR FILTER Piece 20 20 4

06 FILTER:ENG AIR FILTER Piece 20 20 5

06 FILTER:ENG AIR FILTER Piece 20

06 FILTER:ENG AIR FILTER Piece 20

06 FILTER:ENG AIR FILTER Piece 20

06 FILTER:ENG AIR FILTER Piece 20

06 FILTER:ENG AIR FILTER Piece 20

06 FILTER:ENG AIR FILTER Piece 20

07 SUPPORT:FAN Piece 3 3 3 1

07 SUPPORT:FAN Piece 3 3 2

07 SUPPORT:FAN Piece 3 3 3

07 SUPPORT:FAN Piece 3

07 SUPPORT:FAN Piece 3

07 SUPPORT:FAN Piece 3

07 SUPPORT:FAN Piece 3

07 SUPPORT:FAN Piece 3

07 SUPPORT:FAN Piece 3

07 SUPPORT:FAN Piece 3

07 SUPPORT:FAN Piece 3

08 TENSIONER:BELT, ALTERNATOR Piece 3 3 3 1

08 TENSIONER:BELT, ALTERNATOR Piece 3 3 2

08 TENSIONER:BELT, ALTERNATOR Piece 3 3 3

08 TENSIONER:BELT, ALTERNATOR Piece 3

08 TENSIONER:BELT, ALTERNATOR Piece 3

08 TENSIONER:BELT, ALTERNATOR Piece 3

08 TENSIONER:BELT, ALTERNATOR Piece 3

08 TENSIONER:BELT, ALTERNATOR Piece 3

08 TENSIONER:BELT, ALTERNATOR Piece 3

08 TENSIONER:BELT, ALTERNATOR Piece 3

08 TENSIONER:BELT, ALTERNATOR Piece 38 TENSIONER:BELT, ALTERNATOR 081066 Vehicle Maintenance Program

8 TENSIONER:BELT, ALTERNATOR 081066 Neopart Transit LLC

8 TENSIONER:BELT, ALTERNATOR 081066 Kirk's Automotive Inc

8 TENSIONER:BELT, ALTERNATOR 081066 Interstate Power Systems

8 TENSIONER:BELT, ALTERNATOR 081066 Gillig LLC

8 TENSIONER:BELT, ALTERNATOR 081066 ElDorado National (California) Inc

8 TENSIONER:BELT, ALTERNATOR 081066 Crossline Supply LLC

8 TENSIONER:BELT, ALTERNATOR 081066 A&A Auto Parts Stores Inc

8 TENSIONER:BELT, ALTERNATOR 081066 Muncie Transit Supply 170.95

8 TENSIONER:BELT, ALTERNATOR 081066 Coffman Truck Sales Inc 142.88

8 TENSIONER:BELT, ALTERNATOR 081066 Mohawk Manufacturing and Supply Co 51

7 SUPPORT:FAN 081065 Vehicle Maintenance Program

7 SUPPORT:FAN 081065 Neopart Transit LLC

7 SUPPORT:FAN 081065 Kirk's Automotive Inc

7 SUPPORT:FAN 081065 Interstate Power Systems

7 SUPPORT:FAN 081065 Gillig LLC

7 SUPPORT:FAN 081065 ElDorado National (California) Inc

7 SUPPORT:FAN 081065 Crossline Supply LLC

7 SUPPORT:FAN 081065 A&A Auto Parts Stores Inc

7 SUPPORT:FAN 081065 Mohawk Manufacturing and Supply Co 573.97

7 SUPPORT:FAN 081065 Muncie Transit Supply 525.99

7 SUPPORT:FAN 081065 Coffman Truck Sales Inc 445.93

6 FILTER:ENG AIR FILTER 110136 Vehicle Maintenance Program

6 FILTER:ENG AIR FILTER 110136 Kirk's Automotive Inc

6 FILTER:ENG AIR FILTER 110136 Interstate Power Systems

6 FILTER:ENG AIR FILTER 110136 Gillig LLC

6 FILTER:ENG AIR FILTER 110136 Crossline Supply LLC

6 FILTER:ENG AIR FILTER 110136 Coffman Truck Sales Inc

6 FILTER:ENG AIR FILTER 110136 ElDorado National (California) Inc 220.56

6 FILTER:ENG AIR FILTER 110136 Mohawk Manufacturing and Supply Co 205.71

6 FILTER:ENG AIR FILTER 110136 Neopart Transit LLC 154.17

6 FILTER:ENG AIR FILTER 110136 Muncie Transit Supply 129.99

6 FILTER:ENG AIR FILTER 110136 A&A Auto Parts Stores Inc 97.89

5 FILTER:OIL-ENGINE 081262 Interstate Power Systems

5 FILTER:OIL-ENGINE 081262 Gillig LLC

5 FILTER:OIL-ENGINE 081262 ElDorado National (California) Inc

5 FILTER:OIL-ENGINE 081262 Crossline Supply LLC

5 FILTER:OIL-ENGINE 081262 Muncie Transit Supply 8.99

5 FILTER:OIL-ENGINE 081262 Neopart Transit LLC 8.77

5 FILTER:OIL-ENGINE 081262 Kirk's Automotive Inc 8.2

5 FILTER:OIL-ENGINE 081262 Coffman Truck Sales Inc 7.37

5 FILTER:OIL-ENGINE 081262 Mohawk Manufacturing and Supply Co 7.1

5 FILTER:OIL-ENGINE 081262 A&A Auto Parts Stores Inc 6.59

5 FILTER:OIL-ENGINE 081262 Vehicle Maintenance Program 6.19

4 FILTER:TRANS OIL ELEMENT 130581 Vehicle Maintenance Program

4 FILTER:TRANS OIL ELEMENT 130581 Neopart Transit LLC

4 FILTER:TRANS OIL ELEMENT 130581 Kirk's Automotive Inc

4 FILTER:TRANS OIL ELEMENT 130581 ElDorado National (California) Inc

4 FILTER:TRANS OIL ELEMENT 130581 Crossline Supply LLC

4 FILTER:TRANS OIL ELEMENT 130581 A&A Auto Parts Stores Inc

4 FILTER:TRANS OIL ELEMENT 130581 Interstate Power Systems 75.47

4 FILTER:TRANS OIL ELEMENT 130581 Gillig LLC 72.99

4 FILTER:TRANS OIL ELEMENT 130581 Mohawk Manufacturing and Supply Co 64.26

4 FILTER:TRANS OIL ELEMENT 130581 Muncie Transit Supply 62.9

4 FILTER:TRANS OIL ELEMENT 130581 Coffman Truck Sales Inc 62.26

3 FILTER:TRANS OIL ELEMENT 130581 Vehicle Maintenance Program

3 FILTER:TRANS OIL ELEMENT 130581 Neopart Transit LLC

3 FILTER:TRANS OIL ELEMENT 130581 Kirk's Automotive Inc

3 FILTER:TRANS OIL ELEMENT 130581 ElDorado National (California) Inc

3 FILTER:TRANS OIL ELEMENT 130581 Crossline Supply LLC

3 FILTER:TRANS OIL ELEMENT 130581 A&A Auto Parts Stores Inc

3 FILTER:TRANS OIL ELEMENT 130581 Interstate Power Systems 75.47

3 FILTER:TRANS OIL ELEMENT 130581 Gillig LLC 72.99

3 FILTER:TRANS OIL ELEMENT 130581 Mohawk Manufacturing and Supply Co 64.26

3 FILTER:TRANS OIL ELEMENT 130581 Muncie Transit Supply 62.9

3 FILTER:TRANS OIL ELEMENT 130581 Coffman Truck Sales Inc 62.26

2 BREATHER:TRANSMISSION 130684 Vehicle Maintenance Program

2 BREATHER:TRANSMISSION 130684 Neopart Transit LLC

2 BREATHER:TRANSMISSION 130684 Kirk's Automotive Inc

2 BREATHER:TRANSMISSION 130684 Gillig LLC

2 BREATHER:TRANSMISSION 130684 ElDorado National (California) Inc

2 BREATHER:TRANSMISSION 130684 Crossline Supply LLC

2 BREATHER:TRANSMISSION 130684 A&A Auto Parts Stores Inc

2 BREATHER:TRANSMISSION 130684 Interstate Power Systems 9

2 BREATHER:TRANSMISSION 130684 Muncie Transit Supply 8.21

2 BREATHER:TRANSMISSION 130684 Mohawk Manufacturing and Supply Co 8

2 BREATHER:TRANSMISSION 130684 Coffman Truck Sales Inc 7.69

1 BREATHER:TRANSMISSION 130684 Vehicle Maintenance Program

1 BREATHER:TRANSMISSION 130684 Neopart Transit LLC

1 BREATHER:TRANSMISSION 130684 Kirk's Automotive Inc

1 BREATHER:TRANSMISSION 130684 Gillig LLC

1 BREATHER:TRANSMISSION 130684 ElDorado National (California) Inc

1 BREATHER:TRANSMISSION 130684 Crossline Supply LLC

1 BREATHER:TRANSMISSION 130684 A&A Auto Parts Stores Inc

1 BREATHER:TRANSMISSION 130684 Interstate Power Systems 9

1 BREATHER:TRANSMISSION 130684 Muncie Transit Supply 8.21

1 BREATHER:TRANSMISSION 130684 Mohawk Manufacturing and Supply Co 8

1 BREATHER:TRANSMISSION 130684 Coffman Truck Sales Inc 7.69

Line Item,Rev Supplier Award/Reject Reason Quote Price

Award RFQ: 46157 Bus Parts

46157

10/17/2024 8:15

USD



RFQ Quotes Received 11 Invited Suppliers 47

Close Date Active Quotes 11 Intent to Participate 9

RFQ Currency Shortlisted Quotes 11 Responded 11

Line Summary AWARD 46157 Yes No

Unit Quantity

Quote 

Quantity

Award 

Quantity Rank

1 BREATHER:TRANSMISSION 130684 Coffman Truck Sales Inc 7.69

Line Item,Rev Supplier Award/Reject Reason Quote Price

Award RFQ: 46157 Bus Parts

46157

10/17/2024 8:15

USD

09 ELEMENT:ENGINE BREATHER Piece 20 20 1

09 ELEMENT:ENGINE BREATHER Piece 20 20 20 2

09 ELEMENT:ENGINE BREATHER Piece 20 20 3

09 ELEMENT:ENGINE BREATHER Piece 20 20 4

09 ELEMENT:ENGINE BREATHER Piece 20 20 5

09 ELEMENT:ENGINE BREATHER Piece 20

09 ELEMENT:ENGINE BREATHER Piece 20

09 ELEMENT:ENGINE BREATHER Piece 20

09 ELEMENT:ENGINE BREATHER Piece 20

09 ELEMENT:ENGINE BREATHER Piece 20

09 ELEMENT:ENGINE BREATHER Piece 20

10 CLAMP:HOSE-AIR,6-1/2 Piece 10 10 10 1

10 CLAMP:HOSE-AIR,6-1/2 Piece 10 10 2

10 CLAMP:HOSE-AIR,6-1/2 Piece 10

10 CLAMP:HOSE-AIR,6-1/2 Piece 10

10 CLAMP:HOSE-AIR,6-1/2 Piece 10

10 CLAMP:HOSE-AIR,6-1/2 Piece 10

10 CLAMP:HOSE-AIR,6-1/2 Piece 10

10 CLAMP:HOSE-AIR,6-1/2 Piece 10

10 CLAMP:HOSE-AIR,6-1/2 Piece 10

10 CLAMP:HOSE-AIR,6-1/2 Piece 10

10 CLAMP:HOSE-AIR,6-1/2 Piece 10

11 PLUG:OIL DRAIN Piece 3 3 3 1

11 PLUG:OIL DRAIN Piece 3

11 PLUG:OIL DRAIN Piece 3

11 PLUG:OIL DRAIN Piece 3

11 PLUG:OIL DRAIN Piece 3

11 PLUG:OIL DRAIN Piece 3

11 PLUG:OIL DRAIN Piece 3

11 PLUG:OIL DRAIN Piece 3

11 PLUG:OIL DRAIN Piece 3

11 PLUG:OIL DRAIN Piece 3

11 PLUG:OIL DRAIN Piece 3

12 MODULE END:FRT. R/H BUMPER Piece 2 2 2 1

12 MODULE END:FRT. R/H BUMPER Piece 2 2 2

12 MODULE END:FRT. R/H BUMPER Piece 2 2 3

12 MODULE END:FRT. R/H BUMPER Piece 2

12 MODULE END:FRT. R/H BUMPER Piece 2

12 MODULE END:FRT. R/H BUMPER Piece 2

12 MODULE END:FRT. R/H BUMPER Piece 2

12 MODULE END:FRT. R/H BUMPER Piece 2

12 MODULE END:FRT. R/H BUMPER Piece 2

12 MODULE END:FRT. R/H BUMPER Piece 2

12 MODULE END:FRT. R/H BUMPER Piece 2

13 MODULE END:FRT. L/H BUMPER Piece 10 10 10 1

13 MODULE END:FRT. L/H BUMPER Piece 10 10 2

13 MODULE END:FRT. L/H BUMPER Piece 10 10 3

13 MODULE END:FRT. L/H BUMPER Piece 10

13 MODULE END:FRT. L/H BUMPER Piece 10

13 MODULE END:FRT. L/H BUMPER Piece 10

13 MODULE END:FRT. L/H BUMPER Piece 10

13 MODULE END:FRT. L/H BUMPER Piece 10

13 MODULE END:FRT. L/H BUMPER Piece 10

13 MODULE END:FRT. L/H BUMPER Piece 10

13 MODULE END:FRT. L/H BUMPER Piece 10

14 KIT:ROTOR WITH O-RING73740, SPINNER MODEL 576HE 2010. 2767 TO 2826 ONLY Each 20 20 20 1

14 KIT:ROTOR WITH O-RING73740, SPINNER MODEL 576HE 2010. 2767 TO 2826 ONLY Each 20 20 2

14 KIT:ROTOR WITH O-RING73740, SPINNER MODEL 576HE 2010. 2767 TO 2826 ONLY Each 20 20 3

14 KIT:ROTOR WITH O-RING73740, SPINNER MODEL 576HE 2010. 2767 TO 2826 ONLY Each 20

14 KIT:ROTOR WITH O-RING73740, SPINNER MODEL 576HE 2010. 2767 TO 2826 ONLY Each 20

14 KIT:ROTOR WITH O-RING73740, SPINNER MODEL 576HE 2010. 2767 TO 2826 ONLY Each 20

14 KIT:ROTOR WITH O-RING73740, SPINNER MODEL 576HE 2010. 2767 TO 2826 ONLY Each 20

14 KIT:ROTOR WITH O-RING73740, SPINNER MODEL 576HE 2010. 2767 TO 2826 ONLY Each 20

14 KIT:ROTOR WITH O-RING73740, SPINNER MODEL 576HE 2010. 2767 TO 2826 ONLY Each 20

14 KIT:ROTOR WITH O-RING73740, SPINNER MODEL 576HE 2010. 2767 TO 2826 ONLY Each 20

14 KIT:ROTOR WITH O-RING73740, SPINNER MODEL 576HE 2010. 2767 TO 2826 ONLY Each 20

15 FILTER:OIL E450 2010 HYBRID Each 12 12 12 1

15 FILTER:OIL E450 2010 HYBRID Each 12 12 2

15 FILTER:OIL E450 2010 HYBRID Each 12

15 FILTER:OIL E450 2010 HYBRID Each 12

15 FILTER:OIL E450 2010 HYBRID Each 12

15 FILTER:OIL E450 2010 HYBRID Each 12

15 FILTER:OIL E450 2010 HYBRID Each 12

15 FILTER:OIL E450 2010 HYBRID Each 12

15 FILTER:OIL E450 2010 HYBRID Each 12

15 FILTER:OIL E450 2010 HYBRID Each 12

15 FILTER:OIL E450 2010 HYBRID Each 12

16 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 25 25 0 1

16 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 25

16 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 25

16 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 25

16 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 25

16 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 25

16 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 25

16 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 25

16 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 25

16 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 25

16 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 2516 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Vehicle Maintenance Program

16 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Neopart Transit LLC

16 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Muncie Transit Supply

16 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Mohawk Manufacturing and Supply Co

16 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Interstate Power Systems

16 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Gillig LLC

16 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 ElDorado National (California) Inc

16 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Crossline Supply LLC

16 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Coffman Truck Sales Inc

16 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 A&A Auto Parts Stores Inc

16 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Kirk's Automotive Inc 405

15 FILTER:OIL E450 2010 HYBRID 081472 Vehicle Maintenance Program

15 FILTER:OIL E450 2010 HYBRID 081472 Neopart Transit LLC

15 FILTER:OIL E450 2010 HYBRID 081472 Mohawk Manufacturing and Supply Co

15 FILTER:OIL E450 2010 HYBRID 081472 Interstate Power Systems

15 FILTER:OIL E450 2010 HYBRID 081472 Gillig LLC

15 FILTER:OIL E450 2010 HYBRID 081472 ElDorado National (California) Inc

15 FILTER:OIL E450 2010 HYBRID 081472 Crossline Supply LLC

15 FILTER:OIL E450 2010 HYBRID 081472 Coffman Truck Sales Inc

15 FILTER:OIL E450 2010 HYBRID 081472 A&A Auto Parts Stores Inc

15 FILTER:OIL E450 2010 HYBRID 081472 Muncie Transit Supply 8.25

15 FILTER:OIL E450 2010 HYBRID 081472 Kirk's Automotive Inc 7.52

14 KIT:ROTOR WITH O-RING73740, SPINNER MODEL 576HE 2010. 2767 TO 2826 ONLY081444 Vehicle Maintenance Program

14 KIT:ROTOR WITH O-RING73740, SPINNER MODEL 576HE 2010. 2767 TO 2826 ONLY081444 Neopart Transit LLC

14 KIT:ROTOR WITH O-RING73740, SPINNER MODEL 576HE 2010. 2767 TO 2826 ONLY081444 Kirk's Automotive Inc

14 KIT:ROTOR WITH O-RING73740, SPINNER MODEL 576HE 2010. 2767 TO 2826 ONLY081444 Interstate Power Systems

14 KIT:ROTOR WITH O-RING73740, SPINNER MODEL 576HE 2010. 2767 TO 2826 ONLY081444 ElDorado National (California) Inc

14 KIT:ROTOR WITH O-RING73740, SPINNER MODEL 576HE 2010. 2767 TO 2826 ONLY081444 Crossline Supply LLC

14 KIT:ROTOR WITH O-RING73740, SPINNER MODEL 576HE 2010. 2767 TO 2826 ONLY081444 Coffman Truck Sales Inc

14 KIT:ROTOR WITH O-RING73740, SPINNER MODEL 576HE 2010. 2767 TO 2826 ONLY081444 A&A Auto Parts Stores Inc

14 KIT:ROTOR WITH O-RING73740, SPINNER MODEL 576HE 2010. 2767 TO 2826 ONLY081444 Muncie Transit Supply 79.84

14 KIT:ROTOR WITH O-RING73740, SPINNER MODEL 576HE 2010. 2767 TO 2826 ONLY081444 Gillig LLC 71

14 KIT:ROTOR WITH O-RING73740, SPINNER MODEL 576HE 2010. 2767 TO 2826 ONLY081444 Mohawk Manufacturing and Supply Co 62.64

13 MODULE END:FRT. L/H BUMPER 152033 Vehicle Maintenance Program

13 MODULE END:FRT. L/H BUMPER 152033 Neopart Transit LLC

13 MODULE END:FRT. L/H BUMPER 152033 Mohawk Manufacturing and Supply Co

13 MODULE END:FRT. L/H BUMPER 152033 Kirk's Automotive Inc

13 MODULE END:FRT. L/H BUMPER 152033 Interstate Power Systems

13 MODULE END:FRT. L/H BUMPER 152033 Crossline Supply LLC

13 MODULE END:FRT. L/H BUMPER 152033 Coffman Truck Sales Inc

13 MODULE END:FRT. L/H BUMPER 152033 A&A Auto Parts Stores Inc

13 MODULE END:FRT. L/H BUMPER 152033 ElDorado National (California) Inc 342.94

13 MODULE END:FRT. L/H BUMPER 152033 Muncie Transit Supply 183.33

13 MODULE END:FRT. L/H BUMPER 152033 Gillig LLC 175

12 MODULE END:FRT. R/H BUMPER 152032 Vehicle Maintenance Program

12 MODULE END:FRT. R/H BUMPER 152032 Neopart Transit LLC

12 MODULE END:FRT. R/H BUMPER 152032 Mohawk Manufacturing and Supply Co

12 MODULE END:FRT. R/H BUMPER 152032 Kirk's Automotive Inc

12 MODULE END:FRT. R/H BUMPER 152032 Interstate Power Systems

12 MODULE END:FRT. R/H BUMPER 152032 Crossline Supply LLC

12 MODULE END:FRT. R/H BUMPER 152032 Coffman Truck Sales Inc

12 MODULE END:FRT. R/H BUMPER 152032 A&A Auto Parts Stores Inc

12 MODULE END:FRT. R/H BUMPER 152032 ElDorado National (California) Inc 342.94

12 MODULE END:FRT. R/H BUMPER 152032 Muncie Transit Supply 204.92

12 MODULE END:FRT. R/H BUMPER 152032 Gillig LLC 175

11 PLUG:OIL DRAIN 081355 Vehicle Maintenance Program

11 PLUG:OIL DRAIN 081355 Neopart Transit LLC

11 PLUG:OIL DRAIN 081355 Muncie Transit Supply

11 PLUG:OIL DRAIN 081355 Mohawk Manufacturing and Supply Co

11 PLUG:OIL DRAIN 081355 Kirk's Automotive Inc

11 PLUG:OIL DRAIN 081355 Interstate Power Systems

11 PLUG:OIL DRAIN 081355 Gillig LLC

11 PLUG:OIL DRAIN 081355 Crossline Supply LLC

11 PLUG:OIL DRAIN 081355 Coffman Truck Sales Inc

11 PLUG:OIL DRAIN 081355 A&A Auto Parts Stores Inc

11 PLUG:OIL DRAIN 081355 ElDorado National (California) Inc 142.22

10 CLAMP:HOSE-AIR,6-1/2 110058 Vehicle Maintenance Program

10 CLAMP:HOSE-AIR,6-1/2 110058 Neopart Transit LLC

10 CLAMP:HOSE-AIR,6-1/2 110058 Kirk's Automotive Inc

10 CLAMP:HOSE-AIR,6-1/2 110058 Interstate Power Systems

10 CLAMP:HOSE-AIR,6-1/2 110058 Gillig LLC

10 CLAMP:HOSE-AIR,6-1/2 110058 ElDorado National (California) Inc

10 CLAMP:HOSE-AIR,6-1/2 110058 Crossline Supply LLC

10 CLAMP:HOSE-AIR,6-1/2 110058 Coffman Truck Sales Inc

10 CLAMP:HOSE-AIR,6-1/2 110058 A&A Auto Parts Stores Inc

10 CLAMP:HOSE-AIR,6-1/2 110058 Muncie Transit Supply 9.68

10 CLAMP:HOSE-AIR,6-1/2 110058 Mohawk Manufacturing and Supply Co 3.52

9 ELEMENT:ENGINE BREATHER 081298 Vehicle Maintenance Program

9 ELEMENT:ENGINE BREATHER 081298 Kirk's Automotive Inc

9 ELEMENT:ENGINE BREATHER 081298 Interstate Power Systems

9 ELEMENT:ENGINE BREATHER 081298 ElDorado National (California) Inc

9 ELEMENT:ENGINE BREATHER 081298 Crossline Supply LLC

9 ELEMENT:ENGINE BREATHER 081298 A&A Auto Parts Stores Inc

9 ELEMENT:ENGINE BREATHER 081298 Neopart Transit LLC 123.27

9 ELEMENT:ENGINE BREATHER 081298 Gillig LLC 92.5

9 ELEMENT:ENGINE BREATHER 081298 Coffman Truck Sales Inc 78.51

9 ELEMENT:ENGINE BREATHER 081298 Muncie Transit Supply 70.1

9 ELEMENT:ENGINE BREATHER 081298 Mohawk Manufacturing and Supply Co Not an approved OEM No. 57



RFQ Quotes Received 11 Invited Suppliers 47

Close Date Active Quotes 11 Intent to Participate 9

RFQ Currency Shortlisted Quotes 11 Responded 11

Line Summary AWARD 46157 Yes No

Unit Quantity

Quote 

Quantity

Award 

Quantity Rank

1 BREATHER:TRANSMISSION 130684 Coffman Truck Sales Inc 7.69

Line Item,Rev Supplier Award/Reject Reason Quote Price

Award RFQ: 46157 Bus Parts

46157

10/17/2024 8:15

USD

17 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 120 120 0 1

17 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 120

17 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 120

17 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 120

17 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 120

17 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 120

17 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 120

17 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 120

17 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 120

17 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 120

17 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 120

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 40 40 0 1

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 40

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 40

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 40

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 40

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 40

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 40

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 40

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 40

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 40

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 40

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 34 34 0 1

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 34

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 34

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 34

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 34

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 34

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 34

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 34

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 34

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 34

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY Piece 34

20 FILTER:OIL,LUBRICATING Piece 216 216 216 1

20 FILTER:OIL,LUBRICATING Piece 216 216 2

20 FILTER:OIL,LUBRICATING Piece 216 216 3

20 FILTER:OIL,LUBRICATING Piece 216 216 4

20 FILTER:OIL,LUBRICATING Piece 216 216 5

20 FILTER:OIL,LUBRICATING Piece 216 216 6

20 FILTER:OIL,LUBRICATING Piece 216

20 FILTER:OIL,LUBRICATING Piece 216

20 FILTER:OIL,LUBRICATING Piece 216

20 FILTER:OIL,LUBRICATING Piece 216

20 FILTER:OIL,LUBRICATING Piece 216

21 FILTER:OIL,LUBRICATING Piece 84 84 84 1

21 FILTER:OIL,LUBRICATING Piece 84 84 2

21 FILTER:OIL,LUBRICATING Piece 84 84 3

21 FILTER:OIL,LUBRICATING Piece 84 84 4

21 FILTER:OIL,LUBRICATING Piece 84 84 5

21 FILTER:OIL,LUBRICATING Piece 84 84 6

21 FILTER:OIL,LUBRICATING Piece 84 84 7

21 FILTER:OIL,LUBRICATING Piece 84

21 FILTER:OIL,LUBRICATING Piece 84

21 FILTER:OIL,LUBRICATING Piece 84

21 FILTER:OIL,LUBRICATING Piece 84

22 BELT:SERPENTINE (ALTERNATOR) Piece 5 5 5 1

22 BELT:SERPENTINE (ALTERNATOR) Piece 5 5 2

22 BELT:SERPENTINE (ALTERNATOR) Piece 5 5 3

22 BELT:SERPENTINE (ALTERNATOR) Piece 5 5 4

22 BELT:SERPENTINE (ALTERNATOR) Piece 5 5 5

22 BELT:SERPENTINE (ALTERNATOR) Piece 5

22 BELT:SERPENTINE (ALTERNATOR) Piece 5

22 BELT:SERPENTINE (ALTERNATOR) Piece 5

22 BELT:SERPENTINE (ALTERNATOR) Piece 5

22 BELT:SERPENTINE (ALTERNATOR) Piece 5

22 BELT:SERPENTINE (ALTERNATOR) Piece 5

23 SUPPORT:FENDER FLARE AX (EXTERNAL HOLES) SUPPORT Piece 2 2 2 1

23 SUPPORT:FENDER FLARE AX (EXTERNAL HOLES) SUPPORT Piece 2

23 SUPPORT:FENDER FLARE AX (EXTERNAL HOLES) SUPPORT Piece 2

23 SUPPORT:FENDER FLARE AX (EXTERNAL HOLES) SUPPORT Piece 2

23 SUPPORT:FENDER FLARE AX (EXTERNAL HOLES) SUPPORT Piece 2

23 SUPPORT:FENDER FLARE AX (EXTERNAL HOLES) SUPPORT Piece 2

23 SUPPORT:FENDER FLARE AX (EXTERNAL HOLES) SUPPORT Piece 2

23 SUPPORT:FENDER FLARE AX (EXTERNAL HOLES) SUPPORT Piece 2

23 SUPPORT:FENDER FLARE AX (EXTERNAL HOLES) SUPPORT Piece 2

23 SUPPORT:FENDER FLARE AX (EXTERNAL HOLES) SUPPORT Piece 2

23 SUPPORT:FENDER FLARE AX (EXTERNAL HOLES) SUPPORT Piece 2

24 ELEMENT:ENGINE BREATHER ELEMENT Piece 24 24 24 1

24 ELEMENT:ENGINE BREATHER ELEMENT Piece 24 24 2

24 ELEMENT:ENGINE BREATHER ELEMENT Piece 24 24 3

24 ELEMENT:ENGINE BREATHER ELEMENT Piece 24

24 ELEMENT:ENGINE BREATHER ELEMENT Piece 24

24 ELEMENT:ENGINE BREATHER ELEMENT Piece 24

24 ELEMENT:ENGINE BREATHER ELEMENT Piece 24

24 ELEMENT:ENGINE BREATHER ELEMENT Piece 24

24 ELEMENT:ENGINE BREATHER ELEMENT Piece 24

24 ELEMENT:ENGINE BREATHER ELEMENT Piece 24

24 ELEMENT:ENGINE BREATHER ELEMENT Piece 2424 ELEMENT:ENGINE BREATHER ELEMENT0810017 Vehicle Maintenance Program

24 ELEMENT:ENGINE BREATHER ELEMENT0810017 Neopart Transit LLC

24 ELEMENT:ENGINE BREATHER ELEMENT0810017 Kirk's Automotive Inc

24 ELEMENT:ENGINE BREATHER ELEMENT0810017 Interstate Power Systems

24 ELEMENT:ENGINE BREATHER ELEMENT0810017 Gillig LLC

24 ELEMENT:ENGINE BREATHER ELEMENT0810017 ElDorado National (California) Inc

24 ELEMENT:ENGINE BREATHER ELEMENT0810017 Crossline Supply LLC

24 ELEMENT:ENGINE BREATHER ELEMENT0810017 A&A Auto Parts Stores Inc

24 ELEMENT:ENGINE BREATHER ELEMENT0810017 Muncie Transit Supply 102.65

24 ELEMENT:ENGINE BREATHER ELEMENT0810017 Mohawk Manufacturing and Supply Co 88.71

24 ELEMENT:ENGINE BREATHER ELEMENT0810017 Coffman Truck Sales Inc 82.37

23 SUPPORT:FENDER FLARE AX (EXTERNAL HOLES) SUPPORT1510011 Vehicle Maintenance Program

23 SUPPORT:FENDER FLARE AX (EXTERNAL HOLES) SUPPORT1510011 Neopart Transit LLC

23 SUPPORT:FENDER FLARE AX (EXTERNAL HOLES) SUPPORT1510011 Muncie Transit Supply

23 SUPPORT:FENDER FLARE AX (EXTERNAL HOLES) SUPPORT1510011 Mohawk Manufacturing and Supply Co

23 SUPPORT:FENDER FLARE AX (EXTERNAL HOLES) SUPPORT1510011 Kirk's Automotive Inc

23 SUPPORT:FENDER FLARE AX (EXTERNAL HOLES) SUPPORT1510011 Interstate Power Systems

23 SUPPORT:FENDER FLARE AX (EXTERNAL HOLES) SUPPORT1510011 Gillig LLC

23 SUPPORT:FENDER FLARE AX (EXTERNAL HOLES) SUPPORT1510011 Crossline Supply LLC

23 SUPPORT:FENDER FLARE AX (EXTERNAL HOLES) SUPPORT1510011 Coffman Truck Sales Inc

23 SUPPORT:FENDER FLARE AX (EXTERNAL HOLES) SUPPORT1510011 A&A Auto Parts Stores Inc

23 SUPPORT:FENDER FLARE AX (EXTERNAL HOLES) SUPPORT1510011 ElDorado National (California) Inc 627

22 BELT:SERPENTINE (ALTERNATOR)081533 Neopart Transit LLC

22 BELT:SERPENTINE (ALTERNATOR)081533 Kirk's Automotive Inc

22 BELT:SERPENTINE (ALTERNATOR)081533 Interstate Power Systems

22 BELT:SERPENTINE (ALTERNATOR)081533 Gillig LLC

22 BELT:SERPENTINE (ALTERNATOR)081533 ElDorado National (California) Inc

22 BELT:SERPENTINE (ALTERNATOR)081533 Crossline Supply LLC

22 BELT:SERPENTINE (ALTERNATOR)081533 Coffman Truck Sales Inc 58.74

22 BELT:SERPENTINE (ALTERNATOR)081533 Mohawk Manufacturing and Supply Co 41.75

22 BELT:SERPENTINE (ALTERNATOR)081533 A&A Auto Parts Stores Inc 30.39

22 BELT:SERPENTINE (ALTERNATOR)081533 Muncie Transit Supply 17.59

22 BELT:SERPENTINE (ALTERNATOR)081533 Vehicle Maintenance Program 17.43

21 FILTER:OIL,LUBRICATING 081521 Kirk's Automotive Inc

21 FILTER:OIL,LUBRICATING 081521 Gillig LLC

21 FILTER:OIL,LUBRICATING 081521 ElDorado National (California) Inc

21 FILTER:OIL,LUBRICATING 081521 Crossline Supply LLC

21 FILTER:OIL,LUBRICATING 081521 Muncie Transit Supply 38.35

21 FILTER:OIL,LUBRICATING 081521 Neopart Transit LLC 26.78

21 FILTER:OIL,LUBRICATING 081521 Coffman Truck Sales Inc 23.78

21 FILTER:OIL,LUBRICATING 081521 Interstate Power Systems 23.66

21 FILTER:OIL,LUBRICATING 081521 Mohawk Manufacturing and Supply Co 23.63

21 FILTER:OIL,LUBRICATING 081521 A&A Auto Parts Stores Inc 21.69

21 FILTER:OIL,LUBRICATING 081521 Vehicle Maintenance Program 19.05

20 FILTER:OIL,LUBRICATING 081521 Kirk's Automotive Inc

20 FILTER:OIL,LUBRICATING 081521 Gillig LLC

20 FILTER:OIL,LUBRICATING 081521 ElDorado National (California) Inc

20 FILTER:OIL,LUBRICATING 081521 Crossline Supply LLC

20 FILTER:OIL,LUBRICATING 081521 A&A Auto Parts Stores Inc

20 FILTER:OIL,LUBRICATING 081521 Muncie Transit Supply 38.35

20 FILTER:OIL,LUBRICATING 081521 Neopart Transit LLC 26.78

20 FILTER:OIL,LUBRICATING 081521 Coffman Truck Sales Inc 23.78

20 FILTER:OIL,LUBRICATING 081521 Interstate Power Systems 23.66

20 FILTER:OIL,LUBRICATING 081521 Mohawk Manufacturing and Supply Co 23.63

20 FILTER:OIL,LUBRICATING 081521 Vehicle Maintenance Program 19.05

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Vehicle Maintenance Program

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Neopart Transit LLC

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Muncie Transit Supply

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Mohawk Manufacturing and Supply Co

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Interstate Power Systems

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Gillig LLC

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 ElDorado National (California) Inc

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Crossline Supply LLC

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Coffman Truck Sales Inc

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 A&A Auto Parts Stores Inc

19 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Kirk's Automotive Inc 405

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Vehicle Maintenance Program

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Neopart Transit LLC

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Muncie Transit Supply

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Mohawk Manufacturing and Supply Co

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Interstate Power Systems

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Gillig LLC

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 ElDorado National (California) Inc

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Crossline Supply LLC

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Coffman Truck Sales Inc

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 A&A Auto Parts Stores Inc

18 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Kirk's Automotive Inc 405

17 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Vehicle Maintenance Program

17 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Neopart Transit LLC

17 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Muncie Transit Supply

17 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Mohawk Manufacturing and Supply Co

17 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Interstate Power Systems

17 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Gillig LLC

17 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 ElDorado National (California) Inc

17 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Crossline Supply LLC

17 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Coffman Truck Sales Inc

17 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 A&A Auto Parts Stores Inc

17 BATTERY:COACH-MAIN AGM GRP 31 WITH 3/8" USS THREADED STUDS BATTERY072301 Kirk's Automotive Inc 405



RFQ Quotes Received 11 Invited Suppliers 47

Close Date Active Quotes 11 Intent to Participate 9

RFQ Currency Shortlisted Quotes 11 Responded 11

Line Summary AWARD 46157 Yes No

Unit Quantity

Quote 

Quantity

Award 

Quantity Rank

1 BREATHER:TRANSMISSION 130684 Coffman Truck Sales Inc 7.69

Line Item,Rev Supplier Award/Reject Reason Quote Price

Award RFQ: 46157 Bus Parts

46157

10/17/2024 8:15

USD

25 VALVE:COOLANT CONTROL DEF 24V 5/8 BARB VALVE Piece 6 6 6 1

25 VALVE:COOLANT CONTROL DEF 24V 5/8 BARB VALVE Piece 6

25 VALVE:COOLANT CONTROL DEF 24V 5/8 BARB VALVE Piece 6

25 VALVE:COOLANT CONTROL DEF 24V 5/8 BARB VALVE Piece 6

25 VALVE:COOLANT CONTROL DEF 24V 5/8 BARB VALVE Piece 6

25 VALVE:COOLANT CONTROL DEF 24V 5/8 BARB VALVE Piece 6

25 VALVE:COOLANT CONTROL DEF 24V 5/8 BARB VALVE Piece 6

25 VALVE:COOLANT CONTROL DEF 24V 5/8 BARB VALVE Piece 6

25 VALVE:COOLANT CONTROL DEF 24V 5/8 BARB VALVE Piece 6

25 VALVE:COOLANT CONTROL DEF 24V 5/8 BARB VALVE Piece 6

25 VALVE:COOLANT CONTROL DEF 24V 5/8 BARB VALVE Piece 6

26 VALVE:EGR VALVE Piece 12 12 12 1

26 VALVE:EGR VALVE Piece 12 12 2

26 VALVE:EGR VALVE Piece 12

26 VALVE:EGR VALVE Piece 12

26 VALVE:EGR VALVE Piece 12

26 VALVE:EGR VALVE Piece 12

26 VALVE:EGR VALVE Piece 12

26 VALVE:EGR VALVE Piece 12

26 VALVE:EGR VALVE Piece 12

26 VALVE:EGR VALVE Piece 12

26 VALVE:EGR VALVE Piece 12

27 GASKET:EGR GASKET Piece 10 10 1

27 GASKET:EGR GASKET Piece 10 10 10 2

27 GASKET:EGR GASKET Piece 10 10 3

27 GASKET:EGR GASKET Piece 10

27 GASKET:EGR GASKET Piece 10

27 GASKET:EGR GASKET Piece 10

27 GASKET:EGR GASKET Piece 10

27 GASKET:EGR GASKET Piece 10

27 GASKET:EGR GASKET Piece 10

27 GASKET:EGR GASKET Piece 10

27 GASKET:EGR GASKET Piece 10

28 SPRING:DOORS GAS PARCEL D MODEL SPRING Piece 2 2 2 1

28 SPRING:DOORS GAS PARCEL D MODEL SPRING Piece 2

28 SPRING:DOORS GAS PARCEL D MODEL SPRING Piece 2

28 SPRING:DOORS GAS PARCEL D MODEL SPRING Piece 2

28 SPRING:DOORS GAS PARCEL D MODEL SPRING Piece 2

28 SPRING:DOORS GAS PARCEL D MODEL SPRING Piece 2

28 SPRING:DOORS GAS PARCEL D MODEL SPRING Piece 2

28 SPRING:DOORS GAS PARCEL D MODEL SPRING Piece 2

28 SPRING:DOORS GAS PARCEL D MODEL SPRING Piece 2

28 SPRING:DOORS GAS PARCEL D MODEL SPRING Piece 2

28 SPRING:DOORS GAS PARCEL D MODEL SPRING Piece 2

29 MODULE:DPF FILTER MODULE Piece 5 5 5 1

29 MODULE:DPF FILTER MODULE Piece 5 5 2

29 MODULE:DPF FILTER MODULE Piece 5 5 3

29 MODULE:DPF FILTER MODULE Piece 5 5 4

29 MODULE:DPF FILTER MODULE Piece 5 5 5

29 MODULE:DPF FILTER MODULE Piece 5

29 MODULE:DPF FILTER MODULE Piece 5

29 MODULE:DPF FILTER MODULE Piece 5

29 MODULE:DPF FILTER MODULE Piece 5

29 MODULE:DPF FILTER MODULE Piece 5

29 MODULE:DPF FILTER MODULE Piece 5

30 MODULE:DPF FILTER MODULE Piece 4 4 4 1

30 MODULE:DPF FILTER MODULE Piece 4 4 2

30 MODULE:DPF FILTER MODULE Piece 4 4 3

30 MODULE:DPF FILTER MODULE Piece 4 4 4

30 MODULE:DPF FILTER MODULE Piece 4 4 5

30 MODULE:DPF FILTER MODULE Piece 4

30 MODULE:DPF FILTER MODULE Piece 4

30 MODULE:DPF FILTER MODULE Piece 4

30 MODULE:DPF FILTER MODULE Piece 4

30 MODULE:DPF FILTER MODULE Piece 4

30 MODULE:DPF FILTER MODULE Piece 4

31 MODULE:DPF FILTER MODULE Piece 1 1 1 1

31 MODULE:DPF FILTER MODULE Piece 1 1 2

31 MODULE:DPF FILTER MODULE Piece 1 1 3

31 MODULE:DPF FILTER MODULE Piece 1 1 4

31 MODULE:DPF FILTER MODULE Piece 1 1 5

31 MODULE:DPF FILTER MODULE Piece 1

31 MODULE:DPF FILTER MODULE Piece 1

31 MODULE:DPF FILTER MODULE Piece 1

31 MODULE:DPF FILTER MODULE Piece 1

31 MODULE:DPF FILTER MODULE Piece 1

31 MODULE:DPF FILTER MODULE Piece 1

32 MODULE:DOC FILTER SERVICE MODULE Piece 4 4 4 1

32 MODULE:DOC FILTER SERVICE MODULE Piece 4

32 MODULE:DOC FILTER SERVICE MODULE Piece 4

32 MODULE:DOC FILTER SERVICE MODULE Piece 4

32 MODULE:DOC FILTER SERVICE MODULE Piece 4

32 MODULE:DOC FILTER SERVICE MODULE Piece 4

32 MODULE:DOC FILTER SERVICE MODULE Piece 4

32 MODULE:DOC FILTER SERVICE MODULE Piece 4

32 MODULE:DOC FILTER SERVICE MODULE Piece 4

32 MODULE:DOC FILTER SERVICE MODULE Piece 4

32 MODULE:DOC FILTER SERVICE MODULE Piece 432 MODULE:DOC FILTER SERVICE MODULE1010016 Vehicle Maintenance Program

32 MODULE:DOC FILTER SERVICE MODULE1010016 Neopart Transit LLC

32 MODULE:DOC FILTER SERVICE MODULE1010016 Muncie Transit Supply

32 MODULE:DOC FILTER SERVICE MODULE1010016 Mohawk Manufacturing and Supply Co

32 MODULE:DOC FILTER SERVICE MODULE1010016 Kirk's Automotive Inc

32 MODULE:DOC FILTER SERVICE MODULE1010016 Interstate Power Systems

32 MODULE:DOC FILTER SERVICE MODULE1010016 Gillig LLC

32 MODULE:DOC FILTER SERVICE MODULE1010016 ElDorado National (California) Inc

32 MODULE:DOC FILTER SERVICE MODULE1010016 Crossline Supply LLC

32 MODULE:DOC FILTER SERVICE MODULE1010016 A&A Auto Parts Stores Inc

32 MODULE:DOC FILTER SERVICE MODULE1010016 Coffman Truck Sales Inc 2912.44

31 MODULE:DPF FILTER MODULE 1010015 Vehicle Maintenance Program

31 MODULE:DPF FILTER MODULE 1010015 Interstate Power Systems

31 MODULE:DPF FILTER MODULE 1010015 Gillig LLC

31 MODULE:DPF FILTER MODULE 1010015 ElDorado National (California) Inc

31 MODULE:DPF FILTER MODULE 1010015 Crossline Supply LLC

31 MODULE:DPF FILTER MODULE 1010015 A&A Auto Parts Stores Inc

31 MODULE:DPF FILTER MODULE 1010015 Muncie Transit Supply 2262.77

31 MODULE:DPF FILTER MODULE 1010015 Coffman Truck Sales Inc 1884.05

31 MODULE:DPF FILTER MODULE 1010015 Mohawk Manufacturing and Supply Co 1331.34

31 MODULE:DPF FILTER MODULE 1010015 Neopart Transit LLC 1148.62

31 MODULE:DPF FILTER MODULE 1010015 Kirk's Automotive Inc 1040

30 MODULE:DPF FILTER MODULE 1010015 Vehicle Maintenance Program

30 MODULE:DPF FILTER MODULE 1010015 Interstate Power Systems

30 MODULE:DPF FILTER MODULE 1010015 Gillig LLC

30 MODULE:DPF FILTER MODULE 1010015 ElDorado National (California) Inc

30 MODULE:DPF FILTER MODULE 1010015 Crossline Supply LLC

30 MODULE:DPF FILTER MODULE 1010015 A&A Auto Parts Stores Inc

30 MODULE:DPF FILTER MODULE 1010015 Muncie Transit Supply 2262.77

30 MODULE:DPF FILTER MODULE 1010015 Coffman Truck Sales Inc 1884.05

30 MODULE:DPF FILTER MODULE 1010015 Mohawk Manufacturing and Supply Co 1331.34

30 MODULE:DPF FILTER MODULE 1010015 Neopart Transit LLC 1148.62

30 MODULE:DPF FILTER MODULE 1010015 Kirk's Automotive Inc 1040

29 MODULE:DPF FILTER MODULE 1010015 Vehicle Maintenance Program

29 MODULE:DPF FILTER MODULE 1010015 Interstate Power Systems

29 MODULE:DPF FILTER MODULE 1010015 Gillig LLC

29 MODULE:DPF FILTER MODULE 1010015 ElDorado National (California) Inc

29 MODULE:DPF FILTER MODULE 1010015 Crossline Supply LLC

29 MODULE:DPF FILTER MODULE 1010015 A&A Auto Parts Stores Inc

29 MODULE:DPF FILTER MODULE 1010015 Muncie Transit Supply 2262.77

29 MODULE:DPF FILTER MODULE 1010015 Coffman Truck Sales Inc 1884.05

29 MODULE:DPF FILTER MODULE 1010015 Mohawk Manufacturing and Supply Co 1331.34

29 MODULE:DPF FILTER MODULE 1010015 Neopart Transit LLC 1148.62

29 MODULE:DPF FILTER MODULE 1010015 Kirk's Automotive Inc 1040

28 SPRING:DOORS GAS PARCEL D MODEL SPRING1510040 Vehicle Maintenance Program

28 SPRING:DOORS GAS PARCEL D MODEL SPRING1510040 Neopart Transit LLC

28 SPRING:DOORS GAS PARCEL D MODEL SPRING1510040 Mohawk Manufacturing and Supply Co

28 SPRING:DOORS GAS PARCEL D MODEL SPRING1510040 Kirk's Automotive Inc

28 SPRING:DOORS GAS PARCEL D MODEL SPRING1510040 Interstate Power Systems

28 SPRING:DOORS GAS PARCEL D MODEL SPRING1510040 Gillig LLC

28 SPRING:DOORS GAS PARCEL D MODEL SPRING1510040 ElDorado National (California) Inc

28 SPRING:DOORS GAS PARCEL D MODEL SPRING1510040 Crossline Supply LLC

28 SPRING:DOORS GAS PARCEL D MODEL SPRING1510040 Coffman Truck Sales Inc

28 SPRING:DOORS GAS PARCEL D MODEL SPRING1510040 A&A Auto Parts Stores Inc

28 SPRING:DOORS GAS PARCEL D MODEL SPRING1510040 Muncie Transit Supply 77.17

27 GASKET:EGR GASKET 0810031 Vehicle Maintenance Program

27 GASKET:EGR GASKET 0810031 Neopart Transit LLC

27 GASKET:EGR GASKET 0810031 Kirk's Automotive Inc

27 GASKET:EGR GASKET 0810031 Interstate Power Systems

27 GASKET:EGR GASKET 0810031 Gillig LLC

27 GASKET:EGR GASKET 0810031 ElDorado National (California) Inc

27 GASKET:EGR GASKET 0810031 Crossline Supply LLC

27 GASKET:EGR GASKET 0810031 A&A Auto Parts Stores Inc

27 GASKET:EGR GASKET 0810031 Muncie Transit Supply 12.19

27 GASKET:EGR GASKET 0810031 Coffman Truck Sales Inc 10.09

27 GASKET:EGR GASKET 0810031 Mohawk Manufacturing and Supply Co MOHAWK brand not Approved 2.06

26 VALVE:EGR VALVE 0810027 Vehicle Maintenance Program

26 VALVE:EGR VALVE 0810027 Neopart Transit LLC

26 VALVE:EGR VALVE 0810027 Muncie Transit Supply

26 VALVE:EGR VALVE 0810027 Mohawk Manufacturing and Supply Co

26 VALVE:EGR VALVE 0810027 Kirk's Automotive Inc

26 VALVE:EGR VALVE 0810027 Interstate Power Systems

26 VALVE:EGR VALVE 0810027 Gillig LLC

26 VALVE:EGR VALVE 0810027 ElDorado National (California) Inc

26 VALVE:EGR VALVE 0810027 A&A Auto Parts Stores Inc

26 VALVE:EGR VALVE 0810027 Coffman Truck Sales Inc 705.52

26 VALVE:EGR VALVE 0810027 Crossline Supply LLC 694

25 VALVE:COOLANT CONTROL DEF 24V 5/8 BARB VALVE1210011 Vehicle Maintenance Program

25 VALVE:COOLANT CONTROL DEF 24V 5/8 BARB VALVE1210011 Neopart Transit LLC

25 VALVE:COOLANT CONTROL DEF 24V 5/8 BARB VALVE1210011 Muncie Transit Supply

25 VALVE:COOLANT CONTROL DEF 24V 5/8 BARB VALVE1210011 Mohawk Manufacturing and Supply Co

25 VALVE:COOLANT CONTROL DEF 24V 5/8 BARB VALVE1210011 Kirk's Automotive Inc

25 VALVE:COOLANT CONTROL DEF 24V 5/8 BARB VALVE1210011 Interstate Power Systems

25 VALVE:COOLANT CONTROL DEF 24V 5/8 BARB VALVE1210011 Gillig LLC

25 VALVE:COOLANT CONTROL DEF 24V 5/8 BARB VALVE1210011 Crossline Supply LLC

25 VALVE:COOLANT CONTROL DEF 24V 5/8 BARB VALVE1210011 Coffman Truck Sales Inc

25 VALVE:COOLANT CONTROL DEF 24V 5/8 BARB VALVE1210011 A&A Auto Parts Stores Inc

25 VALVE:COOLANT CONTROL DEF 24V 5/8 BARB VALVE1210011 ElDorado National (California) Inc 278.11



RFQ Quotes Received 11 Invited Suppliers 47

Close Date Active Quotes 11 Intent to Participate 9

RFQ Currency Shortlisted Quotes 11 Responded 11

Line Summary AWARD 46157 Yes No

Unit Quantity

Quote 

Quantity

Award 

Quantity Rank

1 BREATHER:TRANSMISSION 130684 Coffman Truck Sales Inc 7.69

Line Item,Rev Supplier Award/Reject Reason Quote Price

Award RFQ: 46157 Bus Parts

46157

10/17/2024 8:15

USD

33 MODULE:DOC FILTER SERVICE MODULE Piece 5 5 5 1

33 MODULE:DOC FILTER SERVICE MODULE Piece 5

33 MODULE:DOC FILTER SERVICE MODULE Piece 5

33 MODULE:DOC FILTER SERVICE MODULE Piece 5

33 MODULE:DOC FILTER SERVICE MODULE Piece 5

33 MODULE:DOC FILTER SERVICE MODULE Piece 5

33 MODULE:DOC FILTER SERVICE MODULE Piece 5

33 MODULE:DOC FILTER SERVICE MODULE Piece 5

33 MODULE:DOC FILTER SERVICE MODULE Piece 5

33 MODULE:DOC FILTER SERVICE MODULE Piece 5

33 MODULE:DOC FILTER SERVICE MODULE Piece 5

34 MODULE:DOC FILTER SERVICE MODULE Piece 1 1 1 1

34 MODULE:DOC FILTER SERVICE MODULE Piece 1

34 MODULE:DOC FILTER SERVICE MODULE Piece 1

34 MODULE:DOC FILTER SERVICE MODULE Piece 1

34 MODULE:DOC FILTER SERVICE MODULE Piece 1

34 MODULE:DOC FILTER SERVICE MODULE Piece 1

34 MODULE:DOC FILTER SERVICE MODULE Piece 1

34 MODULE:DOC FILTER SERVICE MODULE Piece 1

34 MODULE:DOC FILTER SERVICE MODULE Piece 1

34 MODULE:DOC FILTER SERVICE MODULE Piece 1

34 MODULE:DOC FILTER SERVICE MODULE Piece 1

35 TURBO:REMANUFACTURE ENGINE CHARGER TURBO Assembly 2 2 2 1

35 TURBO:REMANUFACTURE ENGINE CHARGER TURBO Assembly 2

35 TURBO:REMANUFACTURE ENGINE CHARGER TURBO Assembly 2

35 TURBO:REMANUFACTURE ENGINE CHARGER TURBO Assembly 2

35 TURBO:REMANUFACTURE ENGINE CHARGER TURBO Assembly 2

35 TURBO:REMANUFACTURE ENGINE CHARGER TURBO Assembly 2

35 TURBO:REMANUFACTURE ENGINE CHARGER TURBO Assembly 2

35 TURBO:REMANUFACTURE ENGINE CHARGER TURBO Assembly 2

35 TURBO:REMANUFACTURE ENGINE CHARGER TURBO Assembly 2

35 TURBO:REMANUFACTURE ENGINE CHARGER TURBO Assembly 2

35 TURBO:REMANUFACTURE ENGINE CHARGER TURBO Assembly 2

36 TURBO:REMANUFACTURE ENGINE CHARGER TURBO Assembly 1 1 1 1

36 TURBO:REMANUFACTURE ENGINE CHARGER TURBO Assembly 1

36 TURBO:REMANUFACTURE ENGINE CHARGER TURBO Assembly 1

36 TURBO:REMANUFACTURE ENGINE CHARGER TURBO Assembly 1

36 TURBO:REMANUFACTURE ENGINE CHARGER TURBO Assembly 1

36 TURBO:REMANUFACTURE ENGINE CHARGER TURBO Assembly 1

36 TURBO:REMANUFACTURE ENGINE CHARGER TURBO Assembly 1

36 TURBO:REMANUFACTURE ENGINE CHARGER TURBO Assembly 1

36 TURBO:REMANUFACTURE ENGINE CHARGER TURBO Assembly 1

36 TURBO:REMANUFACTURE ENGINE CHARGER TURBO Assembly 1

36 TURBO:REMANUFACTURE ENGINE CHARGER TURBO Assembly 1

37 TUBE:ENGINE EXHAUST TUBE Piece 6 6 6 1

37 TUBE:ENGINE EXHAUST TUBE Piece 6 6 2

37 TUBE:ENGINE EXHAUST TUBE Piece 6 6 3

37 TUBE:ENGINE EXHAUST TUBE Piece 6

37 TUBE:ENGINE EXHAUST TUBE Piece 6

37 TUBE:ENGINE EXHAUST TUBE Piece 6

37 TUBE:ENGINE EXHAUST TUBE Piece 6

37 TUBE:ENGINE EXHAUST TUBE Piece 6

37 TUBE:ENGINE EXHAUST TUBE Piece 6

37 TUBE:ENGINE EXHAUST TUBE Piece 6

37 TUBE:ENGINE EXHAUST TUBE Piece 6

38 TUBE:ENGINE EXHAUST TUBE Piece 8 8 8 1

38 TUBE:ENGINE EXHAUST TUBE Piece 8 8 2

38 TUBE:ENGINE EXHAUST TUBE Piece 8 8 3

38 TUBE:ENGINE EXHAUST TUBE Piece 8

38 TUBE:ENGINE EXHAUST TUBE Piece 8

38 TUBE:ENGINE EXHAUST TUBE Piece 8

38 TUBE:ENGINE EXHAUST TUBE Piece 8

38 TUBE:ENGINE EXHAUST TUBE Piece 8

38 TUBE:ENGINE EXHAUST TUBE Piece 8

38 TUBE:ENGINE EXHAUST TUBE Piece 8

38 TUBE:ENGINE EXHAUST TUBE Piece 8

39 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR Piece 6 6 1

39 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR Piece 6 6 6 2

39 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR Piece 6 6 3

39 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR Piece 6

39 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR Piece 6

39 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR Piece 6

39 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR Piece 6

39 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR Piece 6

39 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR Piece 6

39 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR Piece 6

39 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR Piece 6

40 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR Piece 10 10 1

40 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR Piece 10 10 10 2

40 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR Piece 10 10 3

40 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR Piece 10

40 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR Piece 10

40 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR Piece 10

40 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR Piece 10

40 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR Piece 10

40 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR Piece 10

40 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR Piece 10

40 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR Piece 1040 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR0810073 Vehicle Maintenance Program

40 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR0810073 Neopart Transit LLC

40 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR0810073 Muncie Transit Supply

40 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR0810073 Kirk's Automotive Inc

40 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR0810073 Interstate Power Systems

40 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR0810073 Gillig LLC

40 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR0810073 ElDorado National (California) Inc

40 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR0810073 A&A Auto Parts Stores Inc

40 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR0810073 Coffman Truck Sales Inc 148.75

40 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR0810073 Crossline Supply LLC 139

40 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR0810073 Mohawk Manufacturing and Supply Co Mohawk bran not approved 105.51

39 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR0810073 Vehicle Maintenance Program

39 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR0810073 Neopart Transit LLC

39 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR0810073 Muncie Transit Supply

39 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR0810073 Kirk's Automotive Inc

39 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR0810073 Interstate Power Systems

39 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR0810073 Gillig LLC

39 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR0810073 ElDorado National (California) Inc

39 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR0810073 A&A Auto Parts Stores Inc

39 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR0810073 Coffman Truck Sales Inc 148.75

39 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR0810073 Crossline Supply LLC 139

39 SENSOR:EGR DIFFERENTIAL PRESSURE SENSOR0810073 Mohawk Manufacturing and Supply Co Mohawk bran not approved 105.51

38 TUBE:ENGINE EXHAUST TUBE 1010024 Vehicle Maintenance Program

38 TUBE:ENGINE EXHAUST TUBE 1010024 Neopart Transit LLC

38 TUBE:ENGINE EXHAUST TUBE 1010024 Kirk's Automotive Inc

38 TUBE:ENGINE EXHAUST TUBE 1010024 Interstate Power Systems

38 TUBE:ENGINE EXHAUST TUBE 1010024 Gillig LLC

38 TUBE:ENGINE EXHAUST TUBE 1010024 ElDorado National (California) Inc

38 TUBE:ENGINE EXHAUST TUBE 1010024 Crossline Supply LLC

38 TUBE:ENGINE EXHAUST TUBE 1010024 A&A Auto Parts Stores Inc

38 TUBE:ENGINE EXHAUST TUBE 1010024 Mohawk Manufacturing and Supply Co 89.7

38 TUBE:ENGINE EXHAUST TUBE 1010024 Muncie Transit Supply 88.98

38 TUBE:ENGINE EXHAUST TUBE 1010024 Coffman Truck Sales Inc 74.7

37 TUBE:ENGINE EXHAUST TUBE 1010024 Vehicle Maintenance Program

37 TUBE:ENGINE EXHAUST TUBE 1010024 Neopart Transit LLC

37 TUBE:ENGINE EXHAUST TUBE 1010024 Kirk's Automotive Inc

37 TUBE:ENGINE EXHAUST TUBE 1010024 Interstate Power Systems

37 TUBE:ENGINE EXHAUST TUBE 1010024 Gillig LLC

37 TUBE:ENGINE EXHAUST TUBE 1010024 ElDorado National (California) Inc

37 TUBE:ENGINE EXHAUST TUBE 1010024 Crossline Supply LLC

37 TUBE:ENGINE EXHAUST TUBE 1010024 A&A Auto Parts Stores Inc

37 TUBE:ENGINE EXHAUST TUBE 1010024 Mohawk Manufacturing and Supply Co 89.7

37 TUBE:ENGINE EXHAUST TUBE 1010024 Muncie Transit Supply 88.98

37 TUBE:ENGINE EXHAUST TUBE 1010024 Coffman Truck Sales Inc 74.7

36 TURBO:REMANUFACTURE ENGINE CHARGER TURBO0810064 Vehicle Maintenance Program

36 TURBO:REMANUFACTURE ENGINE CHARGER TURBO0810064 Neopart Transit LLC

36 TURBO:REMANUFACTURE ENGINE CHARGER TURBO0810064 Muncie Transit Supply

36 TURBO:REMANUFACTURE ENGINE CHARGER TURBO0810064 Mohawk Manufacturing and Supply Co

36 TURBO:REMANUFACTURE ENGINE CHARGER TURBO0810064 Kirk's Automotive Inc

36 TURBO:REMANUFACTURE ENGINE CHARGER TURBO0810064 Interstate Power Systems

36 TURBO:REMANUFACTURE ENGINE CHARGER TURBO0810064 Gillig LLC

36 TURBO:REMANUFACTURE ENGINE CHARGER TURBO0810064 ElDorado National (California) Inc

36 TURBO:REMANUFACTURE ENGINE CHARGER TURBO0810064 Crossline Supply LLC

36 TURBO:REMANUFACTURE ENGINE CHARGER TURBO0810064 A&A Auto Parts Stores Inc

36 TURBO:REMANUFACTURE ENGINE CHARGER TURBO0810064 Coffman Truck Sales Inc 5655.24

35 TURBO:REMANUFACTURE ENGINE CHARGER TURBO0810064 Vehicle Maintenance Program

35 TURBO:REMANUFACTURE ENGINE CHARGER TURBO0810064 Neopart Transit LLC

35 TURBO:REMANUFACTURE ENGINE CHARGER TURBO0810064 Muncie Transit Supply

35 TURBO:REMANUFACTURE ENGINE CHARGER TURBO0810064 Mohawk Manufacturing and Supply Co

35 TURBO:REMANUFACTURE ENGINE CHARGER TURBO0810064 Kirk's Automotive Inc

35 TURBO:REMANUFACTURE ENGINE CHARGER TURBO0810064 Interstate Power Systems

35 TURBO:REMANUFACTURE ENGINE CHARGER TURBO0810064 Gillig LLC

35 TURBO:REMANUFACTURE ENGINE CHARGER TURBO0810064 ElDorado National (California) Inc

35 TURBO:REMANUFACTURE ENGINE CHARGER TURBO0810064 Crossline Supply LLC

35 TURBO:REMANUFACTURE ENGINE CHARGER TURBO0810064 A&A Auto Parts Stores Inc

35 TURBO:REMANUFACTURE ENGINE CHARGER TURBO0810064 Coffman Truck Sales Inc 5655.24

34 MODULE:DOC FILTER SERVICE MODULE1010016 Vehicle Maintenance Program

34 MODULE:DOC FILTER SERVICE MODULE1010016 Neopart Transit LLC

34 MODULE:DOC FILTER SERVICE MODULE1010016 Muncie Transit Supply

34 MODULE:DOC FILTER SERVICE MODULE1010016 Mohawk Manufacturing and Supply Co

34 MODULE:DOC FILTER SERVICE MODULE1010016 Kirk's Automotive Inc

34 MODULE:DOC FILTER SERVICE MODULE1010016 Interstate Power Systems

34 MODULE:DOC FILTER SERVICE MODULE1010016 Gillig LLC

34 MODULE:DOC FILTER SERVICE MODULE1010016 ElDorado National (California) Inc

34 MODULE:DOC FILTER SERVICE MODULE1010016 Crossline Supply LLC

34 MODULE:DOC FILTER SERVICE MODULE1010016 A&A Auto Parts Stores Inc

34 MODULE:DOC FILTER SERVICE MODULE1010016 Coffman Truck Sales Inc 2912.44

33 MODULE:DOC FILTER SERVICE MODULE1010016 Vehicle Maintenance Program

33 MODULE:DOC FILTER SERVICE MODULE1010016 Neopart Transit LLC

33 MODULE:DOC FILTER SERVICE MODULE1010016 Muncie Transit Supply

33 MODULE:DOC FILTER SERVICE MODULE1010016 Mohawk Manufacturing and Supply Co

33 MODULE:DOC FILTER SERVICE MODULE1010016 Kirk's Automotive Inc

33 MODULE:DOC FILTER SERVICE MODULE1010016 Interstate Power Systems

33 MODULE:DOC FILTER SERVICE MODULE1010016 Gillig LLC

33 MODULE:DOC FILTER SERVICE MODULE1010016 ElDorado National (California) Inc

33 MODULE:DOC FILTER SERVICE MODULE1010016 Crossline Supply LLC

33 MODULE:DOC FILTER SERVICE MODULE1010016 A&A Auto Parts Stores Inc

33 MODULE:DOC FILTER SERVICE MODULE1010016 Coffman Truck Sales Inc 2912.44



RFQ Quotes Received 11 Invited Suppliers 47

Close Date Active Quotes 11 Intent to Participate 9

RFQ Currency Shortlisted Quotes 11 Responded 11

Line Summary AWARD 46157 Yes No

Unit Quantity

Quote 

Quantity

Award 

Quantity Rank

1 BREATHER:TRANSMISSION 130684 Coffman Truck Sales Inc 7.69

Line Item,Rev Supplier Award/Reject Reason Quote Price

Award RFQ: 46157 Bus Parts

46157

10/17/2024 8:15

USD

41 SENSOR:ENGINE INTAKE NOX INLET SENSOR Piece 4 4 4 1

41 SENSOR:ENGINE INTAKE NOX INLET SENSOR Piece 4 4 2

41 SENSOR:ENGINE INTAKE NOX INLET SENSOR Piece 4

41 SENSOR:ENGINE INTAKE NOX INLET SENSOR Piece 4

41 SENSOR:ENGINE INTAKE NOX INLET SENSOR Piece 4

41 SENSOR:ENGINE INTAKE NOX INLET SENSOR Piece 4

41 SENSOR:ENGINE INTAKE NOX INLET SENSOR Piece 4

41 SENSOR:ENGINE INTAKE NOX INLET SENSOR Piece 4

41 SENSOR:ENGINE INTAKE NOX INLET SENSOR Piece 4

41 SENSOR:ENGINE INTAKE NOX INLET SENSOR Piece 4

41 SENSOR:ENGINE INTAKE NOX INLET SENSOR Piece 4

42 SENSOR:ENGINE INTAKE NOX INLET SENSOR Piece 6 6 6 1

42 SENSOR:ENGINE INTAKE NOX INLET SENSOR Piece 6 6 2

42 SENSOR:ENGINE INTAKE NOX INLET SENSOR Piece 6

42 SENSOR:ENGINE INTAKE NOX INLET SENSOR Piece 6

42 SENSOR:ENGINE INTAKE NOX INLET SENSOR Piece 6

42 SENSOR:ENGINE INTAKE NOX INLET SENSOR Piece 6

42 SENSOR:ENGINE INTAKE NOX INLET SENSOR Piece 6

42 SENSOR:ENGINE INTAKE NOX INLET SENSOR Piece 6

42 SENSOR:ENGINE INTAKE NOX INLET SENSOR Piece 6

42 SENSOR:ENGINE INTAKE NOX INLET SENSOR Piece 6

42 SENSOR:ENGINE INTAKE NOX INLET SENSOR Piece 6

43 PUMP:ENGINE FUEL ISL CM2350 PUMP Assembly 2 2 2 1

43 PUMP:ENGINE FUEL ISL CM2350 PUMP Assembly 2 2 2

43 PUMP:ENGINE FUEL ISL CM2350 PUMP Assembly 2

43 PUMP:ENGINE FUEL ISL CM2350 PUMP Assembly 2

43 PUMP:ENGINE FUEL ISL CM2350 PUMP Assembly 2

43 PUMP:ENGINE FUEL ISL CM2350 PUMP Assembly 2

43 PUMP:ENGINE FUEL ISL CM2350 PUMP Assembly 2

43 PUMP:ENGINE FUEL ISL CM2350 PUMP Assembly 2

43 PUMP:ENGINE FUEL ISL CM2350 PUMP Assembly 2

43 PUMP:ENGINE FUEL ISL CM2350 PUMP Assembly 2

43 PUMP:ENGINE FUEL ISL CM2350 PUMP Assembly 2

44 SENSOR:DFN PRESSURE SENSOR Piece 35 35 35 1

44 SENSOR:DFN PRESSURE SENSOR Piece 35 35 2

44 SENSOR:DFN PRESSURE SENSOR Piece 35 35 3

44 SENSOR:DFN PRESSURE SENSOR Piece 35 35 4

44 SENSOR:DFN PRESSURE SENSOR Piece 35 35 5

44 SENSOR:DFN PRESSURE SENSOR Piece 35

44 SENSOR:DFN PRESSURE SENSOR Piece 35

44 SENSOR:DFN PRESSURE SENSOR Piece 35

44 SENSOR:DFN PRESSURE SENSOR Piece 35

44 SENSOR:DFN PRESSURE SENSOR Piece 35

44 SENSOR:DFN PRESSURE SENSOR Piece 35

45 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED) Piece 4 4 4 1

45 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED) Piece 4 4 2

45 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED) Piece 4

45 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED) Piece 4

45 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED) Piece 4

45 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED) Piece 4

45 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED) Piece 4

45 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED) Piece 4

45 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED) Piece 4

45 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED) Piece 4

45 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED) Piece 4

46 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED) Piece 6 6 6 1

46 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED) Piece 6 6 2

46 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED) Piece 6

46 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED) Piece 6

46 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED) Piece 6

46 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED) Piece 6

46 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED) Piece 6

46 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED) Piece 6

46 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED) Piece 6

46 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED) Piece 6

46 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED) Piece 6

47 SENSOR:ENGINE OUTLET NOX SENSOR Piece 3 3 3 1

47 SENSOR:ENGINE OUTLET NOX SENSOR Piece 3

47 SENSOR:ENGINE OUTLET NOX SENSOR Piece 3

47 SENSOR:ENGINE OUTLET NOX SENSOR Piece 3

47 SENSOR:ENGINE OUTLET NOX SENSOR Piece 3

47 SENSOR:ENGINE OUTLET NOX SENSOR Piece 3

47 SENSOR:ENGINE OUTLET NOX SENSOR Piece 3

47 SENSOR:ENGINE OUTLET NOX SENSOR Piece 3

47 SENSOR:ENGINE OUTLET NOX SENSOR Piece 3

47 SENSOR:ENGINE OUTLET NOX SENSOR Piece 3

47 SENSOR:ENGINE OUTLET NOX SENSOR Piece 3

48 SENSOR: OIL PRESSURE, CUMMINS ISL, 9L CM2250 Piece 6 6 1

48 SENSOR: OIL PRESSURE, CUMMINS ISL, 9L CM2250 Piece 6 6 6 2

48 SENSOR: OIL PRESSURE, CUMMINS ISL, 9L CM2250 Piece 6 6 3

48 SENSOR: OIL PRESSURE, CUMMINS ISL, 9L CM2250 Piece 6

48 SENSOR: OIL PRESSURE, CUMMINS ISL, 9L CM2250 Piece 6

48 SENSOR: OIL PRESSURE, CUMMINS ISL, 9L CM2250 Piece 6

48 SENSOR: OIL PRESSURE, CUMMINS ISL, 9L CM2250 Piece 6

48 SENSOR: OIL PRESSURE, CUMMINS ISL, 9L CM2250 Piece 6

48 SENSOR: OIL PRESSURE, CUMMINS ISL, 9L CM2250 Piece 6

48 SENSOR: OIL PRESSURE, CUMMINS ISL, 9L CM2250 Piece 6

48 SENSOR: OIL PRESSURE, CUMMINS ISL, 9L CM2250 Piece 648 SENSOR: OIL PRESSURE, CUMMINS ISL, 9L CM22500810141 Vehicle Maintenance Program

48 SENSOR: OIL PRESSURE, CUMMINS ISL, 9L CM22500810141 Neopart Transit LLC

48 SENSOR: OIL PRESSURE, CUMMINS ISL, 9L CM22500810141 Kirk's Automotive Inc

48 SENSOR: OIL PRESSURE, CUMMINS ISL, 9L CM22500810141 Interstate Power Systems

48 SENSOR: OIL PRESSURE, CUMMINS ISL, 9L CM22500810141 Gillig LLC

48 SENSOR: OIL PRESSURE, CUMMINS ISL, 9L CM22500810141 ElDorado National (California) Inc

48 SENSOR: OIL PRESSURE, CUMMINS ISL, 9L CM22500810141 Crossline Supply LLC

48 SENSOR: OIL PRESSURE, CUMMINS ISL, 9L CM22500810141 A&A Auto Parts Stores Inc

48 SENSOR: OIL PRESSURE, CUMMINS ISL, 9L CM22500810141 Coffman Truck Sales Inc 83.72

48 SENSOR: OIL PRESSURE, CUMMINS ISL, 9L CM22500810141 Muncie Transit Supply 72.98

48 SENSOR: OIL PRESSURE, CUMMINS ISL, 9L CM22500810141 Mohawk Manufacturing and Supply Co Mohawk brand not approved 28.07

47 SENSOR:ENGINE OUTLET NOX SENSOR0810130 Vehicle Maintenance Program

47 SENSOR:ENGINE OUTLET NOX SENSOR0810130 Neopart Transit LLC

47 SENSOR:ENGINE OUTLET NOX SENSOR0810130 Muncie Transit Supply

47 SENSOR:ENGINE OUTLET NOX SENSOR0810130 Mohawk Manufacturing and Supply Co

47 SENSOR:ENGINE OUTLET NOX SENSOR0810130 Kirk's Automotive Inc

47 SENSOR:ENGINE OUTLET NOX SENSOR0810130 Interstate Power Systems

47 SENSOR:ENGINE OUTLET NOX SENSOR0810130 Gillig LLC

47 SENSOR:ENGINE OUTLET NOX SENSOR0810130 ElDorado National (California) Inc

47 SENSOR:ENGINE OUTLET NOX SENSOR0810130 Crossline Supply LLC

47 SENSOR:ENGINE OUTLET NOX SENSOR0810130 A&A Auto Parts Stores Inc

47 SENSOR:ENGINE OUTLET NOX SENSOR0810130 Coffman Truck Sales Inc 465.62

46 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED)0810110 Vehicle Maintenance Program

46 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED)0810110 Neopart Transit LLC

46 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED)0810110 Muncie Transit Supply

46 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED)0810110 Mohawk Manufacturing and Supply Co

46 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED)0810110 Kirk's Automotive Inc

46 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED)0810110 Interstate Power Systems

46 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED)0810110 Gillig LLC

46 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED)0810110 ElDorado National (California) Inc

46 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED)0810110 A&A Auto Parts Stores Inc

46 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED)0810110 Coffman Truck Sales Inc 1829.25

46 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED)0810110 Crossline Supply LLC 1759

45 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED)0810110 Vehicle Maintenance Program

45 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED)0810110 Neopart Transit LLC

45 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED)0810110 Muncie Transit Supply

45 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED)0810110 Mohawk Manufacturing and Supply Co

45 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED)0810110 Kirk's Automotive Inc

45 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED)0810110 Interstate Power Systems

45 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED)0810110 Gillig LLC

45 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED)0810110 ElDorado National (California) Inc

45 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED)0810110 A&A Auto Parts Stores Inc

45 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED)0810110 Coffman Truck Sales Inc 1829.25

45 ACTUATOR: VG TURBO ISL CM2350 ENGINE (CORE REQUIRED)0810110 Crossline Supply LLC 1759

44 SENSOR:DFN PRESSURE SENSOR1010032 Vehicle Maintenance Program

44 SENSOR:DFN PRESSURE SENSOR1010032 Neopart Transit LLC

44 SENSOR:DFN PRESSURE SENSOR1010032 Kirk's Automotive Inc

44 SENSOR:DFN PRESSURE SENSOR1010032 Interstate Power Systems

44 SENSOR:DFN PRESSURE SENSOR1010032 ElDorado National (California) Inc

44 SENSOR:DFN PRESSURE SENSOR1010032 A&A Auto Parts Stores Inc

44 SENSOR:DFN PRESSURE SENSOR1010032 Gillig LLC 171.66

44 SENSOR:DFN PRESSURE SENSOR1010032 Muncie Transit Supply 169.58

44 SENSOR:DFN PRESSURE SENSOR1010032 Crossline Supply LLC 164

44 SENSOR:DFN PRESSURE SENSOR1010032 Coffman Truck Sales Inc 150.27

44 SENSOR:DFN PRESSURE SENSOR1010032 Mohawk Manufacturing and Supply Co 57.6

43 PUMP:ENGINE FUEL ISL CM2350 PUMP1210037 Vehicle Maintenance Program

43 PUMP:ENGINE FUEL ISL CM2350 PUMP1210037 Neopart Transit LLC

43 PUMP:ENGINE FUEL ISL CM2350 PUMP1210037 Muncie Transit Supply

43 PUMP:ENGINE FUEL ISL CM2350 PUMP1210037 Mohawk Manufacturing and Supply Co

43 PUMP:ENGINE FUEL ISL CM2350 PUMP1210037 Kirk's Automotive Inc

43 PUMP:ENGINE FUEL ISL CM2350 PUMP1210037 Interstate Power Systems

43 PUMP:ENGINE FUEL ISL CM2350 PUMP1210037 Gillig LLC

43 PUMP:ENGINE FUEL ISL CM2350 PUMP1210037 ElDorado National (California) Inc

43 PUMP:ENGINE FUEL ISL CM2350 PUMP1210037 A&A Auto Parts Stores Inc

43 PUMP:ENGINE FUEL ISL CM2350 PUMP1210037 Coffman Truck Sales Inc 3413

43 PUMP:ENGINE FUEL ISL CM2350 PUMP1210037 Crossline Supply LLC 3334

42 SENSOR:ENGINE INTAKE NOX INLET SENSOR0810078 Vehicle Maintenance Program

42 SENSOR:ENGINE INTAKE NOX INLET SENSOR0810078 Neopart Transit LLC

42 SENSOR:ENGINE INTAKE NOX INLET SENSOR0810078 Muncie Transit Supply

42 SENSOR:ENGINE INTAKE NOX INLET SENSOR0810078 Kirk's Automotive Inc

42 SENSOR:ENGINE INTAKE NOX INLET SENSOR0810078 Interstate Power Systems

42 SENSOR:ENGINE INTAKE NOX INLET SENSOR0810078 Gillig LLC

42 SENSOR:ENGINE INTAKE NOX INLET SENSOR0810078 ElDorado National (California) Inc

42 SENSOR:ENGINE INTAKE NOX INLET SENSOR0810078 Crossline Supply LLC

42 SENSOR:ENGINE INTAKE NOX INLET SENSOR0810078 A&A Auto Parts Stores Inc

42 SENSOR:ENGINE INTAKE NOX INLET SENSOR0810078 Mohawk Manufacturing and Supply Co 794.45

42 SENSOR:ENGINE INTAKE NOX INLET SENSOR0810078 Coffman Truck Sales Inc 462.55

41 SENSOR:ENGINE INTAKE NOX INLET SENSOR0810078 Vehicle Maintenance Program

41 SENSOR:ENGINE INTAKE NOX INLET SENSOR0810078 Neopart Transit LLC

41 SENSOR:ENGINE INTAKE NOX INLET SENSOR0810078 Muncie Transit Supply

41 SENSOR:ENGINE INTAKE NOX INLET SENSOR0810078 Kirk's Automotive Inc

41 SENSOR:ENGINE INTAKE NOX INLET SENSOR0810078 Interstate Power Systems

41 SENSOR:ENGINE INTAKE NOX INLET SENSOR0810078 Gillig LLC

41 SENSOR:ENGINE INTAKE NOX INLET SENSOR0810078 ElDorado National (California) Inc

41 SENSOR:ENGINE INTAKE NOX INLET SENSOR0810078 Crossline Supply LLC

41 SENSOR:ENGINE INTAKE NOX INLET SENSOR0810078 A&A Auto Parts Stores Inc

41 SENSOR:ENGINE INTAKE NOX INLET SENSOR0810078 Mohawk Manufacturing and Supply Co 794.45

41 SENSOR:ENGINE INTAKE NOX INLET SENSOR0810078 Coffman Truck Sales Inc 462.55



RFQ Quotes Received 11 Invited Suppliers 47

Close Date Active Quotes 11 Intent to Participate 9

RFQ Currency Shortlisted Quotes 11 Responded 11

Line Summary AWARD 46157 Yes No

Unit Quantity

Quote 

Quantity

Award 

Quantity Rank

1 BREATHER:TRANSMISSION 130684 Coffman Truck Sales Inc 7.69

Line Item,Rev Supplier Award/Reject Reason Quote Price

Award RFQ: 46157 Bus Parts

46157

10/17/2024 8:15

USD

49 TANK: WITH HEADUNIT MULTI FUNCTION UREA TANK 9-36 VOLT HEADUNIT TANK Piece 4 4 4 1

49 TANK: WITH HEADUNIT MULTI FUNCTION UREA TANK 9-36 VOLT HEADUNIT TANK Piece 4

49 TANK: WITH HEADUNIT MULTI FUNCTION UREA TANK 9-36 VOLT HEADUNIT TANK Piece 4

49 TANK: WITH HEADUNIT MULTI FUNCTION UREA TANK 9-36 VOLT HEADUNIT TANK Piece 4

49 TANK: WITH HEADUNIT MULTI FUNCTION UREA TANK 9-36 VOLT HEADUNIT TANK Piece 4

49 TANK: WITH HEADUNIT MULTI FUNCTION UREA TANK 9-36 VOLT HEADUNIT TANK Piece 4

49 TANK: WITH HEADUNIT MULTI FUNCTION UREA TANK 9-36 VOLT HEADUNIT TANK Piece 4

49 TANK: WITH HEADUNIT MULTI FUNCTION UREA TANK 9-36 VOLT HEADUNIT TANK Piece 4

49 TANK: WITH HEADUNIT MULTI FUNCTION UREA TANK 9-36 VOLT HEADUNIT TANK Piece 4

49 TANK: WITH HEADUNIT MULTI FUNCTION UREA TANK 9-36 VOLT HEADUNIT TANK Piece 4

49 TANK: WITH HEADUNIT MULTI FUNCTION UREA TANK 9-36 VOLT HEADUNIT TANK Piece 4

50 PANEL: REMOVAL SKIRT 122X40 PANEL Piece 3 3 3 1

50 PANEL: REMOVAL SKIRT 122X40 PANEL Piece 3

50 PANEL: REMOVAL SKIRT 122X40 PANEL Piece 3

50 PANEL: REMOVAL SKIRT 122X40 PANEL Piece 3

50 PANEL: REMOVAL SKIRT 122X40 PANEL Piece 3

50 PANEL: REMOVAL SKIRT 122X40 PANEL Piece 3

50 PANEL: REMOVAL SKIRT 122X40 PANEL Piece 3

50 PANEL: REMOVAL SKIRT 122X40 PANEL Piece 3

50 PANEL: REMOVAL SKIRT 122X40 PANEL Piece 3

50 PANEL: REMOVAL SKIRT 122X40 PANEL Piece 3

50 PANEL: REMOVAL SKIRT 122X40 PANEL Piece 3

51 SENSOR:EXHAUST TEMPERATURE GAS 24V DPF SENSOR Piece 6 6 6 1

51 SENSOR:EXHAUST TEMPERATURE GAS 24V DPF SENSOR Piece 6 6 2

51 SENSOR:EXHAUST TEMPERATURE GAS 24V DPF SENSOR Piece 6 6 3

51 SENSOR:EXHAUST TEMPERATURE GAS 24V DPF SENSOR Piece 6

51 SENSOR:EXHAUST TEMPERATURE GAS 24V DPF SENSOR Piece 6

51 SENSOR:EXHAUST TEMPERATURE GAS 24V DPF SENSOR Piece 6

51 SENSOR:EXHAUST TEMPERATURE GAS 24V DPF SENSOR Piece 6

51 SENSOR:EXHAUST TEMPERATURE GAS 24V DPF SENSOR Piece 6

51 SENSOR:EXHAUST TEMPERATURE GAS 24V DPF SENSOR Piece 6

51 SENSOR:EXHAUST TEMPERATURE GAS 24V DPF SENSOR Piece 6

51 SENSOR:EXHAUST TEMPERATURE GAS 24V DPF SENSOR Piece 6

52 STUD:TURBOCHARGER STUD Piece 10 10 10 1

52 STUD:TURBOCHARGER STUD Piece 10 10 2

52 STUD:TURBOCHARGER STUD Piece 10 10 3

52 STUD:TURBOCHARGER STUD Piece 10

52 STUD:TURBOCHARGER STUD Piece 10

52 STUD:TURBOCHARGER STUD Piece 10

52 STUD:TURBOCHARGER STUD Piece 10

52 STUD:TURBOCHARGER STUD Piece 10

52 STUD:TURBOCHARGER STUD Piece 10

52 STUD:TURBOCHARGER STUD Piece 10

52 STUD:TURBOCHARGER STUD Piece 10

53 KIT:EGR COOLER KIT Kit 5 5 5 1

53 KIT:EGR COOLER KIT Kit 5 5 2

53 KIT:EGR COOLER KIT Kit 5

53 KIT:EGR COOLER KIT Kit 5

53 KIT:EGR COOLER KIT Kit 5

53 KIT:EGR COOLER KIT Kit 5

53 KIT:EGR COOLER KIT Kit 5

53 KIT:EGR COOLER KIT Kit 5

53 KIT:EGR COOLER KIT Kit 5

53 KIT:EGR COOLER KIT Kit 5

53 KIT:EGR COOLER KIT Kit 5

54 BRACKET:C/S REAR BUMBER RADIATOR SUPPORT BRACKET Piece 2 2 2 1

54 BRACKET:C/S REAR BUMBER RADIATOR SUPPORT BRACKET Piece 2

54 BRACKET:C/S REAR BUMBER RADIATOR SUPPORT BRACKET Piece 2

54 BRACKET:C/S REAR BUMBER RADIATOR SUPPORT BRACKET Piece 2

54 BRACKET:C/S REAR BUMBER RADIATOR SUPPORT BRACKET Piece 2

54 BRACKET:C/S REAR BUMBER RADIATOR SUPPORT BRACKET Piece 2

54 BRACKET:C/S REAR BUMBER RADIATOR SUPPORT BRACKET Piece 2

54 BRACKET:C/S REAR BUMBER RADIATOR SUPPORT BRACKET Piece 2

54 BRACKET:C/S REAR BUMBER RADIATOR SUPPORT BRACKET Piece 2

54 BRACKET:C/S REAR BUMBER RADIATOR SUPPORT BRACKET Piece 2

54 BRACKET:C/S REAR BUMBER RADIATOR SUPPORT BRACKET Piece 2

55 ACTUATOR:TURBO ACTUATOR Assembly 2 2 2 1

55 ACTUATOR:TURBO ACTUATOR Assembly 2

55 ACTUATOR:TURBO ACTUATOR Assembly 2

55 ACTUATOR:TURBO ACTUATOR Assembly 2

55 ACTUATOR:TURBO ACTUATOR Assembly 2

55 ACTUATOR:TURBO ACTUATOR Assembly 2

55 ACTUATOR:TURBO ACTUATOR Assembly 2

55 ACTUATOR:TURBO ACTUATOR Assembly 2

55 ACTUATOR:TURBO ACTUATOR Assembly 2

55 ACTUATOR:TURBO ACTUATOR Assembly 2

55 ACTUATOR:TURBO ACTUATOR Assembly 2

56 GASKET:EXHAUST OUTLET CONNECTION GASKET Piece 20 20 1

56 GASKET:EXHAUST OUTLET CONNECTION GASKET Piece 20 20 20 2

56 GASKET:EXHAUST OUTLET CONNECTION GASKET Piece 20 20 3

56 GASKET:EXHAUST OUTLET CONNECTION GASKET Piece 20

56 GASKET:EXHAUST OUTLET CONNECTION GASKET Piece 20

56 GASKET:EXHAUST OUTLET CONNECTION GASKET Piece 20

56 GASKET:EXHAUST OUTLET CONNECTION GASKET Piece 20

56 GASKET:EXHAUST OUTLET CONNECTION GASKET Piece 20

56 GASKET:EXHAUST OUTLET CONNECTION GASKET Piece 20

56 GASKET:EXHAUST OUTLET CONNECTION GASKET Piece 20

56 GASKET:EXHAUST OUTLET CONNECTION GASKET Piece 2056 GASKET:EXHAUST OUTLET CONNECTION GASKET1010053 Vehicle Maintenance Program

56 GASKET:EXHAUST OUTLET CONNECTION GASKET1010053 Neopart Transit LLC

56 GASKET:EXHAUST OUTLET CONNECTION GASKET1010053 Kirk's Automotive Inc

56 GASKET:EXHAUST OUTLET CONNECTION GASKET1010053 Interstate Power Systems

56 GASKET:EXHAUST OUTLET CONNECTION GASKET1010053 Gillig LLC

56 GASKET:EXHAUST OUTLET CONNECTION GASKET1010053 ElDorado National (California) Inc

56 GASKET:EXHAUST OUTLET CONNECTION GASKET1010053 Crossline Supply LLC

56 GASKET:EXHAUST OUTLET CONNECTION GASKET1010053 A&A Auto Parts Stores Inc

56 GASKET:EXHAUST OUTLET CONNECTION GASKET1010053 Muncie Transit Supply 15.87

56 GASKET:EXHAUST OUTLET CONNECTION GASKET1010053 Coffman Truck Sales Inc 10.37

56 GASKET:EXHAUST OUTLET CONNECTION GASKET1010053 Mohawk Manufacturing and Supply Co Mohawk brand not approved 4.5

55 ACTUATOR:TURBO ACTUATOR 0810227 Vehicle Maintenance Program

55 ACTUATOR:TURBO ACTUATOR 0810227 Neopart Transit LLC

55 ACTUATOR:TURBO ACTUATOR 0810227 Muncie Transit Supply

55 ACTUATOR:TURBO ACTUATOR 0810227 Mohawk Manufacturing and Supply Co

55 ACTUATOR:TURBO ACTUATOR 0810227 Kirk's Automotive Inc

55 ACTUATOR:TURBO ACTUATOR 0810227 Interstate Power Systems

55 ACTUATOR:TURBO ACTUATOR 0810227 Gillig LLC

55 ACTUATOR:TURBO ACTUATOR 0810227 ElDorado National (California) Inc

55 ACTUATOR:TURBO ACTUATOR 0810227 Crossline Supply LLC

55 ACTUATOR:TURBO ACTUATOR 0810227 A&A Auto Parts Stores Inc

55 ACTUATOR:TURBO ACTUATOR 0810227 Coffman Truck Sales Inc 1336.81

54 BRACKET:C/S REAR BUMBER RADIATOR SUPPORT BRACKET1510182 Vehicle Maintenance Program

54 BRACKET:C/S REAR BUMBER RADIATOR SUPPORT BRACKET1510182 Neopart Transit LLC

54 BRACKET:C/S REAR BUMBER RADIATOR SUPPORT BRACKET1510182 Muncie Transit Supply

54 BRACKET:C/S REAR BUMBER RADIATOR SUPPORT BRACKET1510182 Mohawk Manufacturing and Supply Co

54 BRACKET:C/S REAR BUMBER RADIATOR SUPPORT BRACKET1510182 Kirk's Automotive Inc

54 BRACKET:C/S REAR BUMBER RADIATOR SUPPORT BRACKET1510182 Interstate Power Systems

54 BRACKET:C/S REAR BUMBER RADIATOR SUPPORT BRACKET1510182 Gillig LLC

54 BRACKET:C/S REAR BUMBER RADIATOR SUPPORT BRACKET1510182 Crossline Supply LLC

54 BRACKET:C/S REAR BUMBER RADIATOR SUPPORT BRACKET1510182 Coffman Truck Sales Inc

54 BRACKET:C/S REAR BUMBER RADIATOR SUPPORT BRACKET1510182 A&A Auto Parts Stores Inc

54 BRACKET:C/S REAR BUMBER RADIATOR SUPPORT BRACKET1510182 ElDorado National (California) Inc 144.8

53 KIT:EGR COOLER KIT 0810183 Vehicle Maintenance Program

53 KIT:EGR COOLER KIT 0810183 Neopart Transit LLC

53 KIT:EGR COOLER KIT 0810183 Mohawk Manufacturing and Supply Co

53 KIT:EGR COOLER KIT 0810183 Kirk's Automotive Inc

53 KIT:EGR COOLER KIT 0810183 Interstate Power Systems

53 KIT:EGR COOLER KIT 0810183 Gillig LLC

53 KIT:EGR COOLER KIT 0810183 ElDorado National (California) Inc

53 KIT:EGR COOLER KIT 0810183 Crossline Supply LLC

53 KIT:EGR COOLER KIT 0810183 A&A Auto Parts Stores Inc

53 KIT:EGR COOLER KIT 0810183 Muncie Transit Supply 1819.35

53 KIT:EGR COOLER KIT 0810183 Coffman Truck Sales Inc 1585.01

52 STUD:TURBOCHARGER STUD 0810180 Vehicle Maintenance Program

52 STUD:TURBOCHARGER STUD 0810180 Neopart Transit LLC

52 STUD:TURBOCHARGER STUD 0810180 Kirk's Automotive Inc

52 STUD:TURBOCHARGER STUD 0810180 Interstate Power Systems

52 STUD:TURBOCHARGER STUD 0810180 Gillig LLC

52 STUD:TURBOCHARGER STUD 0810180 ElDorado National (California) Inc

52 STUD:TURBOCHARGER STUD 0810180 Crossline Supply LLC

52 STUD:TURBOCHARGER STUD 0810180 A&A Auto Parts Stores Inc

52 STUD:TURBOCHARGER STUD 0810180 Mohawk Manufacturing and Supply Co 10.46

52 STUD:TURBOCHARGER STUD 0810180 Muncie Transit Supply 9.89

52 STUD:TURBOCHARGER STUD 0810180 Coffman Truck Sales Inc 8.25

51 SENSOR:EXHAUST TEMPERATURE GAS 24V DPF SENSOR1010044 Vehicle Maintenance Program

51 SENSOR:EXHAUST TEMPERATURE GAS 24V DPF SENSOR1010044 Neopart Transit LLC

51 SENSOR:EXHAUST TEMPERATURE GAS 24V DPF SENSOR1010044 Muncie Transit Supply

51 SENSOR:EXHAUST TEMPERATURE GAS 24V DPF SENSOR1010044 Mohawk Manufacturing and Supply Co

51 SENSOR:EXHAUST TEMPERATURE GAS 24V DPF SENSOR1010044 Kirk's Automotive Inc

51 SENSOR:EXHAUST TEMPERATURE GAS 24V DPF SENSOR1010044 Interstate Power Systems

51 SENSOR:EXHAUST TEMPERATURE GAS 24V DPF SENSOR1010044 ElDorado National (California) Inc

51 SENSOR:EXHAUST TEMPERATURE GAS 24V DPF SENSOR1010044 A&A Auto Parts Stores Inc

51 SENSOR:EXHAUST TEMPERATURE GAS 24V DPF SENSOR1010044 Gillig LLC 375

51 SENSOR:EXHAUST TEMPERATURE GAS 24V DPF SENSOR1010044 Coffman Truck Sales Inc 334.36

51 SENSOR:EXHAUST TEMPERATURE GAS 24V DPF SENSOR1010044 Crossline Supply LLC 303

50 PANEL: REMOVAL SKIRT 122X40 PANEL1510151 Vehicle Maintenance Program

50 PANEL: REMOVAL SKIRT 122X40 PANEL1510151 Neopart Transit LLC

50 PANEL: REMOVAL SKIRT 122X40 PANEL1510151 Muncie Transit Supply

50 PANEL: REMOVAL SKIRT 122X40 PANEL1510151 Mohawk Manufacturing and Supply Co

50 PANEL: REMOVAL SKIRT 122X40 PANEL1510151 Kirk's Automotive Inc

50 PANEL: REMOVAL SKIRT 122X40 PANEL1510151 Interstate Power Systems

50 PANEL: REMOVAL SKIRT 122X40 PANEL1510151 Gillig LLC

50 PANEL: REMOVAL SKIRT 122X40 PANEL1510151 Crossline Supply LLC

50 PANEL: REMOVAL SKIRT 122X40 PANEL1510151 Coffman Truck Sales Inc

50 PANEL: REMOVAL SKIRT 122X40 PANEL1510151 A&A Auto Parts Stores Inc

50 PANEL: REMOVAL SKIRT 122X40 PANEL1510151 ElDorado National (California) Inc 240.14

49 TANK: WITH HEADUNIT MULTI FUNCTION UREA TANK 9-36 VOLT HEADUNIT TANK1210078 Vehicle Maintenance Program

49 TANK: WITH HEADUNIT MULTI FUNCTION UREA TANK 9-36 VOLT HEADUNIT TANK1210078 Neopart Transit LLC

49 TANK: WITH HEADUNIT MULTI FUNCTION UREA TANK 9-36 VOLT HEADUNIT TANK1210078 Muncie Transit Supply

49 TANK: WITH HEADUNIT MULTI FUNCTION UREA TANK 9-36 VOLT HEADUNIT TANK1210078 Mohawk Manufacturing and Supply Co

49 TANK: WITH HEADUNIT MULTI FUNCTION UREA TANK 9-36 VOLT HEADUNIT TANK1210078 Kirk's Automotive Inc

49 TANK: WITH HEADUNIT MULTI FUNCTION UREA TANK 9-36 VOLT HEADUNIT TANK1210078 Interstate Power Systems

49 TANK: WITH HEADUNIT MULTI FUNCTION UREA TANK 9-36 VOLT HEADUNIT TANK1210078 Gillig LLC

49 TANK: WITH HEADUNIT MULTI FUNCTION UREA TANK 9-36 VOLT HEADUNIT TANK1210078 Crossline Supply LLC

49 TANK: WITH HEADUNIT MULTI FUNCTION UREA TANK 9-36 VOLT HEADUNIT TANK1210078 Coffman Truck Sales Inc

49 TANK: WITH HEADUNIT MULTI FUNCTION UREA TANK 9-36 VOLT HEADUNIT TANK1210078 A&A Auto Parts Stores Inc

49 TANK: WITH HEADUNIT MULTI FUNCTION UREA TANK 9-36 VOLT HEADUNIT TANK1210078 ElDorado National (California) Inc 1500



RFQ Quotes Received 11 Invited Suppliers 47

Close Date Active Quotes 11 Intent to Participate 9

RFQ Currency Shortlisted Quotes 11 Responded 11

Line Summary AWARD 46157 Yes No

Unit Quantity

Quote 

Quantity

Award 

Quantity Rank

1 BREATHER:TRANSMISSION 130684 Coffman Truck Sales Inc 7.69

Line Item,Rev Supplier Award/Reject Reason Quote Price

Award RFQ: 46157 Bus Parts

46157

10/17/2024 8:15

USD

57 SENSOR:SCR TEMPERATURE SENSOR Piece 10 10 10 1

57 SENSOR:SCR TEMPERATURE SENSOR Piece 10 10 2

57 SENSOR:SCR TEMPERATURE SENSOR Piece 10 10 3

57 SENSOR:SCR TEMPERATURE SENSOR Piece 10 10 4

57 SENSOR:SCR TEMPERATURE SENSOR Piece 10

57 SENSOR:SCR TEMPERATURE SENSOR Piece 10

57 SENSOR:SCR TEMPERATURE SENSOR Piece 10

57 SENSOR:SCR TEMPERATURE SENSOR Piece 10

57 SENSOR:SCR TEMPERATURE SENSOR Piece 10

57 SENSOR:SCR TEMPERATURE SENSOR Piece 10

57 SENSOR:SCR TEMPERATURE SENSOR Piece 10

58 SENSOR:PARTICULATE MATTER SENSOR Piece 1 1 1 1

58 SENSOR:PARTICULATE MATTER SENSOR Piece 1

58 SENSOR:PARTICULATE MATTER SENSOR Piece 1

58 SENSOR:PARTICULATE MATTER SENSOR Piece 1

58 SENSOR:PARTICULATE MATTER SENSOR Piece 1

58 SENSOR:PARTICULATE MATTER SENSOR Piece 1

58 SENSOR:PARTICULATE MATTER SENSOR Piece 1

58 SENSOR:PARTICULATE MATTER SENSOR Piece 1

58 SENSOR:PARTICULATE MATTER SENSOR Piece 1

58 SENSOR:PARTICULATE MATTER SENSOR Piece 1

58 SENSOR:PARTICULATE MATTER SENSOR Piece 1

59 SENSOR:DIFFERENTIAL PRESSURE TEMP SENSOR Piece 6 6 6 1

59 SENSOR:DIFFERENTIAL PRESSURE TEMP SENSOR Piece 6 6 2

59 SENSOR:DIFFERENTIAL PRESSURE TEMP SENSOR Piece 6 6 3

59 SENSOR:DIFFERENTIAL PRESSURE TEMP SENSOR Piece 6

59 SENSOR:DIFFERENTIAL PRESSURE TEMP SENSOR Piece 6

59 SENSOR:DIFFERENTIAL PRESSURE TEMP SENSOR Piece 6

59 SENSOR:DIFFERENTIAL PRESSURE TEMP SENSOR Piece 6

59 SENSOR:DIFFERENTIAL PRESSURE TEMP SENSOR Piece 6

59 SENSOR:DIFFERENTIAL PRESSURE TEMP SENSOR Piece 6

59 SENSOR:DIFFERENTIAL PRESSURE TEMP SENSOR Piece 6

59 SENSOR:DIFFERENTIAL PRESSURE TEMP SENSOR Piece 6

60 MOUNT:REAR ENGINE MOUNT Assembly 8 8 8 1

60 MOUNT:REAR ENGINE MOUNT Assembly 8

60 MOUNT:REAR ENGINE MOUNT Assembly 8

60 MOUNT:REAR ENGINE MOUNT Assembly 8

60 MOUNT:REAR ENGINE MOUNT Assembly 8

60 MOUNT:REAR ENGINE MOUNT Assembly 8

60 MOUNT:REAR ENGINE MOUNT Assembly 8

60 MOUNT:REAR ENGINE MOUNT Assembly 8

60 MOUNT:REAR ENGINE MOUNT Assembly 8

60 MOUNT:REAR ENGINE MOUNT Assembly 8

60 MOUNT:REAR ENGINE MOUNT Assembly 8

61 MOUNT:REAR ENGINE MOUNT Assembly 3 3 3 1

61 MOUNT:REAR ENGINE MOUNT Assembly 3

61 MOUNT:REAR ENGINE MOUNT Assembly 3

61 MOUNT:REAR ENGINE MOUNT Assembly 3

61 MOUNT:REAR ENGINE MOUNT Assembly 3

61 MOUNT:REAR ENGINE MOUNT Assembly 3

61 MOUNT:REAR ENGINE MOUNT Assembly 3

61 MOUNT:REAR ENGINE MOUNT Assembly 3

61 MOUNT:REAR ENGINE MOUNT Assembly 3

61 MOUNT:REAR ENGINE MOUNT Assembly 3

61 MOUNT:REAR ENGINE MOUNT Assembly 3

62 DEVICE:AFTERTRATMENT SCR DEVICE Assembly 2 2 2 1

62 DEVICE:AFTERTRATMENT SCR DEVICE Assembly 2 2 2

62 DEVICE:AFTERTRATMENT SCR DEVICE Assembly 2

62 DEVICE:AFTERTRATMENT SCR DEVICE Assembly 2

62 DEVICE:AFTERTRATMENT SCR DEVICE Assembly 2

62 DEVICE:AFTERTRATMENT SCR DEVICE Assembly 2

62 DEVICE:AFTERTRATMENT SCR DEVICE Assembly 2

62 DEVICE:AFTERTRATMENT SCR DEVICE Assembly 2

62 DEVICE:AFTERTRATMENT SCR DEVICE Assembly 2

62 DEVICE:AFTERTRATMENT SCR DEVICE Assembly 2

62 DEVICE:AFTERTRATMENT SCR DEVICE Assembly 2

63 MANIFOLD:EXHAUST MANIFOLD Kit 3 3 3 1

63 MANIFOLD:EXHAUST MANIFOLD Kit 3 3 2

63 MANIFOLD:EXHAUST MANIFOLD Kit 3

63 MANIFOLD:EXHAUST MANIFOLD Kit 3

63 MANIFOLD:EXHAUST MANIFOLD Kit 3

63 MANIFOLD:EXHAUST MANIFOLD Kit 3

63 MANIFOLD:EXHAUST MANIFOLD Kit 3

63 MANIFOLD:EXHAUST MANIFOLD Kit 3

63 MANIFOLD:EXHAUST MANIFOLD Kit 3

63 MANIFOLD:EXHAUST MANIFOLD Kit 3

63 MANIFOLD:EXHAUST MANIFOLD Kit 3

64 MANIFOLD:EXHAUST MANIFOLD Kit 2 2 2 1

64 MANIFOLD:EXHAUST MANIFOLD Kit 2 2 2

64 MANIFOLD:EXHAUST MANIFOLD Kit 2

64 MANIFOLD:EXHAUST MANIFOLD Kit 2

64 MANIFOLD:EXHAUST MANIFOLD Kit 2

64 MANIFOLD:EXHAUST MANIFOLD Kit 2

64 MANIFOLD:EXHAUST MANIFOLD Kit 2

64 MANIFOLD:EXHAUST MANIFOLD Kit 2

64 MANIFOLD:EXHAUST MANIFOLD Kit 2

64 MANIFOLD:EXHAUST MANIFOLD Kit 2

64 MANIFOLD:EXHAUST MANIFOLD Kit 264 MANIFOLD:EXHAUST MANIFOLD 0810372 Vehicle Maintenance Program

64 MANIFOLD:EXHAUST MANIFOLD 0810372 Neopart Transit LLC

64 MANIFOLD:EXHAUST MANIFOLD 0810372 Mohawk Manufacturing and Supply Co

64 MANIFOLD:EXHAUST MANIFOLD 0810372 Kirk's Automotive Inc

64 MANIFOLD:EXHAUST MANIFOLD 0810372 Interstate Power Systems

64 MANIFOLD:EXHAUST MANIFOLD 0810372 Gillig LLC

64 MANIFOLD:EXHAUST MANIFOLD 0810372 ElDorado National (California) Inc

64 MANIFOLD:EXHAUST MANIFOLD 0810372 Crossline Supply LLC

64 MANIFOLD:EXHAUST MANIFOLD 0810372 A&A Auto Parts Stores Inc

64 MANIFOLD:EXHAUST MANIFOLD 0810372 Muncie Transit Supply 1098.45

64 MANIFOLD:EXHAUST MANIFOLD 0810372 Coffman Truck Sales Inc 927.06

63 MANIFOLD:EXHAUST MANIFOLD 0810372 Vehicle Maintenance Program

63 MANIFOLD:EXHAUST MANIFOLD 0810372 Neopart Transit LLC

63 MANIFOLD:EXHAUST MANIFOLD 0810372 Mohawk Manufacturing and Supply Co

63 MANIFOLD:EXHAUST MANIFOLD 0810372 Kirk's Automotive Inc

63 MANIFOLD:EXHAUST MANIFOLD 0810372 Interstate Power Systems

63 MANIFOLD:EXHAUST MANIFOLD 0810372 Gillig LLC

63 MANIFOLD:EXHAUST MANIFOLD 0810372 ElDorado National (California) Inc

63 MANIFOLD:EXHAUST MANIFOLD 0810372 Crossline Supply LLC

63 MANIFOLD:EXHAUST MANIFOLD 0810372 A&A Auto Parts Stores Inc

63 MANIFOLD:EXHAUST MANIFOLD 0810372 Muncie Transit Supply 1098.45

63 MANIFOLD:EXHAUST MANIFOLD 0810372 Coffman Truck Sales Inc 927.06

62 DEVICE:AFTERTRATMENT SCR DEVICE1010085 Vehicle Maintenance Program

62 DEVICE:AFTERTRATMENT SCR DEVICE1010085 Neopart Transit LLC

62 DEVICE:AFTERTRATMENT SCR DEVICE1010085 Mohawk Manufacturing and Supply Co

62 DEVICE:AFTERTRATMENT SCR DEVICE1010085 Kirk's Automotive Inc

62 DEVICE:AFTERTRATMENT SCR DEVICE1010085 Interstate Power Systems

62 DEVICE:AFTERTRATMENT SCR DEVICE1010085 Gillig LLC

62 DEVICE:AFTERTRATMENT SCR DEVICE1010085 ElDorado National (California) Inc

62 DEVICE:AFTERTRATMENT SCR DEVICE1010085 Crossline Supply LLC

62 DEVICE:AFTERTRATMENT SCR DEVICE1010085 A&A Auto Parts Stores Inc

62 DEVICE:AFTERTRATMENT SCR DEVICE1010085 Muncie Transit Supply 4532.2

62 DEVICE:AFTERTRATMENT SCR DEVICE1010085 Coffman Truck Sales Inc 3855.14

61 MOUNT:REAR ENGINE MOUNT 1510267 Vehicle Maintenance Program

61 MOUNT:REAR ENGINE MOUNT 1510267 Neopart Transit LLC

61 MOUNT:REAR ENGINE MOUNT 1510267 Muncie Transit Supply

61 MOUNT:REAR ENGINE MOUNT 1510267 Mohawk Manufacturing and Supply Co

61 MOUNT:REAR ENGINE MOUNT 1510267 Kirk's Automotive Inc

61 MOUNT:REAR ENGINE MOUNT 1510267 Interstate Power Systems

61 MOUNT:REAR ENGINE MOUNT 1510267 Gillig LLC

61 MOUNT:REAR ENGINE MOUNT 1510267 Crossline Supply LLC

61 MOUNT:REAR ENGINE MOUNT 1510267 Coffman Truck Sales Inc

61 MOUNT:REAR ENGINE MOUNT 1510267 A&A Auto Parts Stores Inc

61 MOUNT:REAR ENGINE MOUNT 1510267 ElDorado National (California) Inc 306.13

60 MOUNT:REAR ENGINE MOUNT 1510267 Vehicle Maintenance Program

60 MOUNT:REAR ENGINE MOUNT 1510267 Neopart Transit LLC

60 MOUNT:REAR ENGINE MOUNT 1510267 Muncie Transit Supply

60 MOUNT:REAR ENGINE MOUNT 1510267 Mohawk Manufacturing and Supply Co

60 MOUNT:REAR ENGINE MOUNT 1510267 Kirk's Automotive Inc

60 MOUNT:REAR ENGINE MOUNT 1510267 Interstate Power Systems

60 MOUNT:REAR ENGINE MOUNT 1510267 Gillig LLC

60 MOUNT:REAR ENGINE MOUNT 1510267 Crossline Supply LLC

60 MOUNT:REAR ENGINE MOUNT 1510267 Coffman Truck Sales Inc

60 MOUNT:REAR ENGINE MOUNT 1510267 A&A Auto Parts Stores Inc

60 MOUNT:REAR ENGINE MOUNT 1510267 ElDorado National (California) Inc 306.13

59 SENSOR:DIFFERENTIAL PRESSURE TEMP SENSOR0810270 Vehicle Maintenance Program

59 SENSOR:DIFFERENTIAL PRESSURE TEMP SENSOR0810270 Neopart Transit LLC

59 SENSOR:DIFFERENTIAL PRESSURE TEMP SENSOR0810270 Muncie Transit Supply

59 SENSOR:DIFFERENTIAL PRESSURE TEMP SENSOR0810270 Mohawk Manufacturing and Supply Co

59 SENSOR:DIFFERENTIAL PRESSURE TEMP SENSOR0810270 Kirk's Automotive Inc

59 SENSOR:DIFFERENTIAL PRESSURE TEMP SENSOR0810270 Interstate Power Systems

59 SENSOR:DIFFERENTIAL PRESSURE TEMP SENSOR0810270 ElDorado National (California) Inc

59 SENSOR:DIFFERENTIAL PRESSURE TEMP SENSOR0810270 A&A Auto Parts Stores Inc

59 SENSOR:DIFFERENTIAL PRESSURE TEMP SENSOR0810270 Gillig LLC 375

59 SENSOR:DIFFERENTIAL PRESSURE TEMP SENSOR0810270 Coffman Truck Sales Inc 334.36

59 SENSOR:DIFFERENTIAL PRESSURE TEMP SENSOR0810270 Crossline Supply LLC 214

58 SENSOR:PARTICULATE MATTER SENSOR1010070 Vehicle Maintenance Program

58 SENSOR:PARTICULATE MATTER SENSOR1010070 Neopart Transit LLC

58 SENSOR:PARTICULATE MATTER SENSOR1010070 Muncie Transit Supply

58 SENSOR:PARTICULATE MATTER SENSOR1010070 Mohawk Manufacturing and Supply Co

58 SENSOR:PARTICULATE MATTER SENSOR1010070 Kirk's Automotive Inc

58 SENSOR:PARTICULATE MATTER SENSOR1010070 Interstate Power Systems

58 SENSOR:PARTICULATE MATTER SENSOR1010070 Gillig LLC

58 SENSOR:PARTICULATE MATTER SENSOR1010070 ElDorado National (California) Inc

58 SENSOR:PARTICULATE MATTER SENSOR1010070 Crossline Supply LLC

58 SENSOR:PARTICULATE MATTER SENSOR1010070 A&A Auto Parts Stores Inc

58 SENSOR:PARTICULATE MATTER SENSOR1010070 Coffman Truck Sales Inc 420.95

57 SENSOR:SCR TEMPERATURE SENSOR1010067 Vehicle Maintenance Program

57 SENSOR:SCR TEMPERATURE SENSOR1010067 Neopart Transit LLC

57 SENSOR:SCR TEMPERATURE SENSOR1010067 Mohawk Manufacturing and Supply Co

57 SENSOR:SCR TEMPERATURE SENSOR1010067 Kirk's Automotive Inc

57 SENSOR:SCR TEMPERATURE SENSOR1010067 Interstate Power Systems

57 SENSOR:SCR TEMPERATURE SENSOR1010067 ElDorado National (California) Inc

57 SENSOR:SCR TEMPERATURE SENSOR1010067 A&A Auto Parts Stores Inc

57 SENSOR:SCR TEMPERATURE SENSOR1010067 Muncie Transit Supply 369.84

57 SENSOR:SCR TEMPERATURE SENSOR1010067 Gillig LLC 347.12

57 SENSOR:SCR TEMPERATURE SENSOR1010067 Coffman Truck Sales Inc 310.54

57 SENSOR:SCR TEMPERATURE SENSOR1010067 Crossline Supply LLC 298



RFQ Quotes Received 11 Invited Suppliers 47

Close Date Active Quotes 11 Intent to Participate 9

RFQ Currency Shortlisted Quotes 11 Responded 11

Line Summary AWARD 46157 Yes No

Unit Quantity

Quote 

Quantity

Award 

Quantity Rank

1 BREATHER:TRANSMISSION 130684 Coffman Truck Sales Inc 7.69

Line Item,Rev Supplier Award/Reject Reason Quote Price

Award RFQ: 46157 Bus Parts

46157

10/17/2024 8:15

USD

65 BUMPER : BUMPER ASSEMBLY (FRONT) Each 2 2 2 1

65 BUMPER : BUMPER ASSEMBLY (FRONT) Each 2

65 BUMPER : BUMPER ASSEMBLY (FRONT) Each 2

65 BUMPER : BUMPER ASSEMBLY (FRONT) Each 2

65 BUMPER : BUMPER ASSEMBLY (FRONT) Each 2

65 BUMPER : BUMPER ASSEMBLY (FRONT) Each 2

65 BUMPER : BUMPER ASSEMBLY (FRONT) Each 2

65 BUMPER : BUMPER ASSEMBLY (FRONT) Each 2

65 BUMPER : BUMPER ASSEMBLY (FRONT) Each 2

65 BUMPER : BUMPER ASSEMBLY (FRONT) Each 2

65 BUMPER : BUMPER ASSEMBLY (FRONT) Each 2

66 BUMPER : BUMPER ASSEMBLY (REAR) Each 2 2 2 1

66 BUMPER : BUMPER ASSEMBLY (REAR) Each 2

66 BUMPER : BUMPER ASSEMBLY (REAR) Each 2

66 BUMPER : BUMPER ASSEMBLY (REAR) Each 2

66 BUMPER : BUMPER ASSEMBLY (REAR) Each 2

66 BUMPER : BUMPER ASSEMBLY (REAR) Each 2

66 BUMPER : BUMPER ASSEMBLY (REAR) Each 2

66 BUMPER : BUMPER ASSEMBLY (REAR) Each 2

66 BUMPER : BUMPER ASSEMBLY (REAR) Each 2

66 BUMPER : BUMPER ASSEMBLY (REAR) Each 2

66 BUMPER : BUMPER ASSEMBLY (REAR) Each 2

File Download Time 10/18/2024 9:24

66 BUMPER : BUMPER ASSEMBLY (REAR)1510345 Vehicle Maintenance Program

66 BUMPER : BUMPER ASSEMBLY (REAR)1510345 Neopart Transit LLC

66 BUMPER : BUMPER ASSEMBLY (REAR)1510345 Muncie Transit Supply

66 BUMPER : BUMPER ASSEMBLY (REAR)1510345 Mohawk Manufacturing and Supply Co

66 BUMPER : BUMPER ASSEMBLY (REAR)1510345 Kirk's Automotive Inc

66 BUMPER : BUMPER ASSEMBLY (REAR)1510345 Interstate Power Systems

66 BUMPER : BUMPER ASSEMBLY (REAR)1510345 ElDorado National (California) Inc

66 BUMPER : BUMPER ASSEMBLY (REAR)1510345 Crossline Supply LLC

66 BUMPER : BUMPER ASSEMBLY (REAR)1510345 Coffman Truck Sales Inc

66 BUMPER : BUMPER ASSEMBLY (REAR)1510345 A&A Auto Parts Stores Inc

66 BUMPER : BUMPER ASSEMBLY (REAR)1510345 Gillig LLC 1644.65

65 BUMPER : BUMPER ASSEMBLY (FRONT)1510344 Vehicle Maintenance Program

65 BUMPER : BUMPER ASSEMBLY (FRONT)1510344 Neopart Transit LLC

65 BUMPER : BUMPER ASSEMBLY (FRONT)1510344 Muncie Transit Supply

65 BUMPER : BUMPER ASSEMBLY (FRONT)1510344 Mohawk Manufacturing and Supply Co

65 BUMPER : BUMPER ASSEMBLY (FRONT)1510344 Kirk's Automotive Inc

65 BUMPER : BUMPER ASSEMBLY (FRONT)1510344 Interstate Power Systems

65 BUMPER : BUMPER ASSEMBLY (FRONT)1510344 ElDorado National (California) Inc

65 BUMPER : BUMPER ASSEMBLY (FRONT)1510344 Crossline Supply LLC

65 BUMPER : BUMPER ASSEMBLY (FRONT)1510344 Coffman Truck Sales Inc

65 BUMPER : BUMPER ASSEMBLY (FRONT)1510344 A&A Auto Parts Stores Inc

65 BUMPER : BUMPER ASSEMBLY (FRONT)1510344 Gillig LLC 1958.08




